RAILEE ETRI1SEEKBEE=AIVITHE

(B {51 :mg/L)
H18EEFE 1[0 B—1 B—2 B—3 b—5 [S—2—1| S—5 S—4 .
6H28B~7HA18) R &3 &R BN = . . IREEE A
K | HhTFK | K ok | RAUK | BKRIDK
HOAMY <0.002] <0.002] <0.002 <0.002 <0.002] <0.002  <0.002 0.02
1,2-%"9AA14Y <0.0004) <0.0004, <0.0004 <0.0004, <0.0004/ <0.0004/ <0.0004 0.004
YA—1,2-"900TFbY <0.004 0.005  <0.004 <0.004/ <0.004| <0.004 <0.004 0.04
Aty <0.001 0.001,  <0.001 <0.001, <0.001 <0.001  <0.001 0.01
THEL - AEHERIEE R <0.06 0.61 1.8 1.9 8.7 6.3 10 10
et <0.08 0.08 <0.08 <0.08 <0.08 <0.08 <0.08 0.8
F5% <0.05 0.09 0.08 0.57 0.39 0.15 0.16 1
H18&FEE$ 2[q| B—1 B—2 B—3 B—4 b—5 S—2—1 S-—5 S—4
(8A178) JE5pul &8 &8 &8 =1 - : R IRIGE %
MRk | Rk | Tk | Tk | Rk | DK BK O GEIK
ThanAgYy <0.002] <0.002] <0.002] <0.002] <0.002] <0.002] <0.002  <0.002 0.02
1,2-%"9AA14Y <0.0004) <0.0004 <0.0004| <0.0004 <0.0004 <0.0004| <0.0004 <0.0004 0.004
YA—1,2-4"9001FLY <0.004] <0.004  <0.004| <0.004] <0.004 <0.004] <0.004  <0.004 0.04
Aty <0.001/ <0.001  <0.001| <0001, <0.001  <0.001| <0.001  <0.001 0.01
fHES - BIHEAEE R <0.06 0.35 3.3 0.23 0.3 11 6.8 12 10
et <0.08 0.1 <0.08 <0.08 <0.08 <0.08 <0.08 <0.08 0.8
F5% <0.05 0.23 0.07 <0.05 0.13 <0.05 <0.05 <0.05 1
H18&FEE % 3[A| B—1 B—2 B—3 B—4 b—5 S—2—1 S-—5 S—4 -
(11H29E|) Jﬁiﬂ Jﬁiﬂ E.lﬂ Jﬁiﬂ %W =) N R Eﬁﬂ%iﬁ
sk | A | Mok | Tk | Rk | cEAK | BK O EIK
STHanAgY <0.002] <0.002] <0.002] <0.002] <0.002] <0.002] <0.002  <0.002 0.02
1,2-"90014y <0.0004, <0.0004 <0.0004| <0.0004 <0.0004 <0.0004| <0.0004 <0.0004 0.004
YA—1,2-4"900IFLYy <0.004 <0.004 <0.004| <0.004 <0.004 <0.004 <0.004 <0.004 0.04
Aty <0.001/ <0.001  <0.001| <0.001 0.001  <0.001| <0.001  <0.001 0.01
THES- BIHERAMEER <0.06 2.4 46 0.78 0.29 13 8.9 12 10
E <0.08 <0.08 <0.08 <0.08 <0.08 <0.08 <0.08 <0.08 0.8
F5% <0.05 0.28 0.06 0.05 0.21 0.09 <0.05 <0.05 1
H18FE % 4[m] B—1 B—2 B—3 B—4 b—5 |[S—2—1| S—5 S—4 o
(2A15H) &3 &3 &R &3 HN = . . IRIEE
HRAK | MK | HTFK | #TRJK | HITFK RHK Bk AR
ThanAgYy <0.002] <0.002] <0.002] <0.002] <0.002] <0.002] <0.002  <0.002 0.02
1,2-%"90n14y <0.0004/ <0.0004  0.0005| <0.0004 <0.0004 <0.0004| <0.0004 <0.0004 0.004
YA—1,2-Y"900IFLYy <0.004 <0.004 <0.004| <0.004 <0.004 <0.004 <0.004 <0.004 0.04
Aty <0.001/ <0.001  <0.001| <0.001 0.001  <0.001| <0.001  <0.001 0.01
TEE- BIEMMESR <0.06 1.9 1.7 0.77 0.78 13 9.0 12 10
NE <0.08 <0.08 <0.08 <0.08 <0.08 <0.08 <0.08 <0.08 0.8
F5F <0.05 0.3 0.07 0.11 24 0.09 <0.05 <0.05 1

"<"DEBIX. EETREXRBETHAZELXRLTLET,
(Bl Z £, ”<0.002” &, 0,002mg/LkH)




RALEE EFRI19FEEKEE=AIVTHE

(B {51 :mg/L)
H19&EEE 1[0 B—1 B—2 B—3 B—4 b—5 |S—2—1| S—5 S—4 e
(6A18H~22H)| RAA IE3bul &4 vl BHN s : : IR AL
HhTRAK | K | HTFK | #TRsK | #ITFK REK gk AR
Y hooiry <0.002] <0.002] <0.002] <0.002 <0.002] <0.002] <0.002  <0.002 0.02
1,2-%"9AA14Y <0.0004/ <0.0004 <0.0004| <0.0004 <0.0004 <0.0004| <0.0004 <0.0004 0.004
YA—=1,2-"400IFLY <0.004 <0.004  <0.004] <0004 <0.004 <0.004, <0.004 <0.004 0.04
A'VEY <0.001| <0.001  <0.001, <0.001  <0.001  <0.001, <0.001  <0.001 0.01
THEL - AEHERIEE R 0.03 2.3 1.5 1.2 1.2 10 11 3.8 10
AoF 0.15 0.23 0.17 0.16 0.21 0.23 0.15 0.31 0.8
EPES <0.02 0.31 0.06 0.08 2.2 0.15 <0.02 0.02 1
ibKE <0.002 <0.005  <0.005 —
H19&EEE2[0] B—1 B—2 B—3 B—4 b—5 S—2—1| S—5 S—4 s
(SHGE""IOE) Jﬁiﬂ Jﬁiﬂ J%Jﬂ Jﬁiﬂ 1757I7<J = 3 3 E%R LE
HTRAK | HITFK | HTFK | #TRK | #ITFK REK gk Ak
Y hooiry <0.002] <0.002 <0.002] <0.002 <0.002  <0.002] <0.002  <0.002 0.02
1,2-%"9AA14Y <0.0004/ <0.0004 <0.0004| <0.0004 <0.0004 <0.0004| <0.0004 <0.0004 0.004
YA—=1,2-"400IFLY <0.004 <0.004 <0.004 <0.004 <0.004 <0.004 <0.004  <0.004 0.04
AVEY <0.001, <0.001  <0.001| <0.001 0.002  <0.001 <0.001  <0.001 0.01
THES - BIHEAEER 0.03 1.7 2.7 0.24 0.30 10 4.7 10 10
A% 0.14 0.24 0.13 0.19 0.36 0.18 0.20 0.18 0.8
F5% <0.02 0.47 0.05 0.09 30 0.03 <0.02 <0.02 1
ibKE <0.002 <0.002  <0.002 —
H19&EE 5 3[ B—1 B—2 B—3 B—4 b—5 S—2—1| S—5 S—4 s
(11B6B~78) JE5pvl IE5pul 5Bl 5Bl =10 = R . RIBE#E
HTRAK | HITFK | HTFK | #TRK | #ITFK REK gk AR
Y honiay <0.002] <0.002] <0.002] <0.002 <0.002 <0.002] <0.002  <0.002 0.02
1,2-%"9AA14Y <0.0004 <0.0004 <0.0004| <0.0004 <0.0004 <0.0004| <0.0004 <0.0004 0.004
YA—=1,2-"400IFLY <0.004) <0.004/ <0.004 <0.004 <0.004 <0.004 <0.004  <0.004 0.04
A'VEY <0.001| <0.001  <0.001, <0.001  <0.001 <0.001, <0.001  <0.001 0.01
THES - BIEHEAEER 0.21 2.2 2.6 0.69 0.27 12 5.7 11 10
AoF 0.35 0.18 0.16 0.16 0.26 0.27 0.30 0.19 0.8
F5% 0.15 0.42 0.16 0.23 25 0.05 0.05 <0.02 1
RibKE <0.002 <0.002  <0.002 —
H19%EE 4[] B—1 B—2 B—3 B—4 b—5 S—2—1| S—5 S—4 s
(2H1QE) Jﬁiﬂ Jﬁiﬂ J%Jﬂ Jﬁiﬂ i%l*] 3 3 by E%R LE
K | HTK | HTFsK | #HTFK | HTRK RHK gk K
Y honiay <0.002] <0.002 <0.002] <0.002 <0.002 <0.002] <0.002 <0.002 0.02
1,2-%"9AA14Y <0.0004/ <0.0004 <0.0004/ <0.0004 <0.0004 <0.0004| <0.0004 <0.0004 0.004
YA—1,2-"400IFLY <0.004| <0.004  <0.004/ <0004  <0.004 <0.004] <0.004  <0.004 0.04
AVEY <0.001/ <0.001, <0.001| <0.001| <0.001  <0.001| <0.001  <0.001 0.01
THES - BIEERRMEER 0.04 2.3 1.0 0.87 0.35 15 3.8 13 10
AoF 0.17 0.21 0.18 0.17 0.24 0.24 0.26 0.20 0.8
F5% <0.02 0.33 0.07 0.12 1.9 0.05 0.03 <0.02 1
ibKE <0.002 <0.002  <0.002 —

"<"ORESE. EETRERETHILERLTVET,
(BIZIE. "<0.002" (&, 0,002me/L K i)




RAILEE FEH20EEKEE=AIUTHE

(B {51 :mg/L)
H20&EE 1[0 B—1 B—2 B—3 B—4 b—5 |S—2—1| S—5 S—4 e
(6A5H) 5Bl &8 &8 &8 =1 -~ s : IRIGELS
HhTRAK | K | HTFK | #TRsK | #ITFK REK gk AR
Y hooiry <0.002] <0.002] <0.002] <0.002 <0.002] <0.002] <0.002  <0.002 0.02
1,2-%"9AA14Y <0.0004/ <0.0004 <0.0004| <0.0004 <0.0004 <0.0004| <0.0004 <0.0004 0.004
YA—=1,2-"400IFLY <0.004 <0.004  <0.004] <0004 <0.004 <0.004, <0.004 <0.004 0.04
A'VEY <0.001  <0.001  <0.001| <0.001 0.001  <0.001, <0.001  <0.001 0.01
THEL - AEHERIEE R <0.06 1.8 2.0 0.71 0.23 8.0 9.6 7.4 10
AoF <0.08 <0.08 <0.08 <0.08 0.18 <0.08 <0.08 <0.08 0.8
EPES <0.05 0.51 0.13 0.12 43 0.25 <0.05 0.06 1
ibKE <0.002 <0.002  <0.002 —
H20&EE 5 2[ B—1 B—2 B—3 B—4 b—5 S—2—1| S—5 S—4 s
(8H27E) Jﬁiﬂ Jﬁiﬂ J%Jﬂ Jﬁiﬂ 1757I7<J = 3 3 E%R LE
HTRAK | HITFK | HTFK | #TRK | #ITFK REK gk Ak
Y hooiry <0.002] <0.002 <0.002] <0.002 <0.002  <0.002] <0.002  <0.002 0.02
1,2-%"9AA14Y <0.0004/ <0.0004 <0.0004| <0.0004 <0.0004 <0.0004| <0.0004 <0.0004 0.004
YA—=1,2-"400IFLY <0.004 <0.004 <0.004 <0.004 <0.004 <0.004 <0.004  <0.004 0.04
AVEY <0.001| <0.001  <0.001, <0.001  <0.001 <0.001, <0.001  <0.001 0.01
THES - BIHEAEER <0.06 2.3 5.4 0.42 0.66 13 12 12 10
A% 0.12 <0.08 <0.08 <0.08 0.14 0.11 <0.08 <0.08 0.8
F5% 0.07 0.47 0.08 0.11 1.7 0.12 0.06 <0.05 1
ibKE <0.002 <0.002  <0.002 —
H20&EE 5 3[ B—1 B—2 B—3 B—4 b—5 S—2—1| S—5 S—4 s
(11H1QE) Jﬁiﬂ Jﬁiﬂ J%Jﬂ Jﬁiﬂ i’zl_qu 33, > R i%ﬂ ‘E
HTRAK | HITFK | HTFK | #TRK | #ITFK REK gk AR
Y honiay <0.002] <0.002] <0.002] <0.002 <0.002 <0.002] <0.002  <0.002 0.02
1,2-%"9AA14Y <0.0004 <0.0004 <0.0004| <0.0004 <0.0004 <0.0004| <0.0004 <0.0004 0.004
YA—=1,2-"400IFLY <0.004) <0.004/ <0.004 <0.004 <0.004 <0.004 <0.004  <0.004 0.04
A'VEY <0.001| <0.001/  <0.001 0.001 0.001  <0.001 <0.001  <0.001 0.01
THES - BIEHEAEER <0.06 2.1 6.7 0.38 0.34 11 9.9 12 10
AoF <0.08 <0.08 <0.08 <0.08 <0.08 <0.08 <0.08 <0.08 0.8
F5% <0.05 0.44 0.05 <0.05 0.89 0.05 <0.05 <0.05 1
RibKE <0.002 <0.002  <0.002 —
H20&EE % 4[] B—1 B—2 B—3 B—4 b—5 S—2—1| S—5 S—4 s
(2H1SE) Jﬁiﬂ Jﬁiﬂ J%Jﬂ Jﬁiﬂ i%l*] 3 3 by E%R LE
K | HTK | HTFsK | #HTFK | HTRK RHK gk K
Y honiay <0.002] <0.002 <0.002] <0.002 <0.002 <0.002] <0.002 <0.002 0.02
1,2-%"9AA14Y <0.0004/ <0.0004 <0.0004/ <0.0004 <0.0004 <0.0004| <0.0004 <0.0004 0.004
YA—1,2-"400IFLY <0.004| <0.004  <0.004/ <0004  <0.004 <0.004] <0.004  <0.004 0.04
AVEY <0.001/ <0.001/ <0.001  <0.001 0001  <0.001, <0.001  <0.001 0.01
THES - BIEERRMEER <0.06 2.2 2.3 0.36 0.21 12 10 12 10
AoF <0.08 <0.08 <0.08 <0.08 <0.08 <0.08 <0.08 <0.08 0.8
F5% <0.05 0.46 0.09 0.15 3.5 0.06 <0.05 <0.05 1
ibKE <0.002 <0.002  <0.002 —

"<"ORESE. EETRERETHILERLTVET,
(BIZIE. "<0.002" (&, 0,002me/L K i)




NUEE FH21FEKEE=SIOTHEE

(BRI :mg/L)
H21EEE 1[0 B—1 B—2 B—3 B—4 b—5 |S—2—1| S—5 S—4
(568208H) &3 &3 [Eia 5Bl BN 3 : R IRIGE %
MRk | Rk | Tk | Tk | Rk DK BK O GEIK
DWEEILD] <0.002] <0.002] <0.002] <0.002] <0.002] <0.002] <0.002  <0.002 0.02
1,2-"90n14y <0.0004) <0.0004 <0.0004| <0.0004 <0.0004 <0.0004| <0.0004 <0.0004 0.004
YA—1,2-"900IFLYy <0.004 <0.004  <0.004 0.004  <0.004  <0.004 <0.004  <0.004 0.04
Aty <0.001] <0.001  <0.001 0.001] <0.001  <0.001| <0.001  <0.001 0.01
fHES- BIHEAMEER <0.06 25 2.7 0.42 0.32 8.3 11 11 10
AoF <0.08 <0.08 <0.08 <0.08 <0.08 <0.08 <0.08 <0.08 0.8
Z5% <0.05 0.48 0.09 0.06 2.7 0.08 <0.05 <0.05 1
RiEKE <0.002 <0.002  <0.002 —
H21EEE2( B—1 B—2 B—3 B—4 b—5 |S—2—1| S—5 S—4
(8A19H) &3 &3 &R &8 ZN 3 : : IRIGE %
MRk | Rk | Tk | Tk | Rk | DK BK O GEIK
DWEEILD, <0.002] <0.002] <0.002] <0.002] <0.002] <0.002] <0.002  <0.002 0.02
1,2-%"90014y <0.0004) <0.0004 <0.0004| <0.0004 <0.0004 <0.0004| <0.0004 <0.0004 0.004
YA—1,2-Y"900IFLY <0.004] <0.004  <0.004| <0.004| <0.004 <0.004] <0.004  <0.004 0.04
Aty <0.001] <0.001 <0.001| <0.001, <0.001 <0.001| <0.001  <0.001 0.01
THEG- BIEHEAMEER <0.06 2.9 4.1 0.31 0.32 7.6 10 11 10
ASDoF <0.08 <0.08 <0.08 <0.08 0.1 <0.08 <0.08 <0.08 0.8
F5% <0.05 0.4 0.05 <0.05 2.4 <0.05 <0.05 <0.05 1
RiEKE <0.002 <0.002  <0.002 —
H214FEEZE3[m B—1 B—2 B—3 B—4 b—5 S—2—1| S—5 S—4 -
(11BA19A) &3 &8 &R &3 N 3 : . IRIEE
sk | A | Mok | Tk | Rk | <EAK | BK O EIK
DWEEILD, <0.002] <0.002] <0.002] <0.002] <0.002] <0.002] <0.002  <0.002 0.02
1,2-"90014y <0.0004/ <0.0004  0.0007| <0.0004 <0.0004 <0.0004| <0.0004 <0.0004 0.004
YA—1,2-Y"900IFLYy <0.004 <0.004 <0.004| <0.004] <0.004 <0.004 <0.004 <0.004 0.04
Aty <0.001) <0.001, <0.001| <0.001, <0.001  <0.001| <0.001  <0.001 0.01
fHEG- BIHEAMEE R <0.06 2.9 6.5 0.25 <0.06 10 10 12 10
AoF 0.09 <0.08 <0.08 <0.08 <0.08 <0.08 <0.08 <0.08 0.8
F5% <0.05 0.35 0.07 0.09 1.0 0.11 <0.05 <0.05 1
RiEKE <0.002 <0.002  <0.002 —
H214FEEE 40 B—1 B—2 B—3 B—4 b—5 'S—2—1| S—5 S—4 -
(2B248) &3 &8 &R &3 N - : : IREEEAE
sk | Rk | Mok | Tk | Rk | cEAK | BK O EDIK
DWEEILD] <0.002] <0.002 <0.002] <0.002] <0.002] <0.002] <0.002  <0.002 0.02
1,2-"90014y <0.0004) <0.0004 <0.0004| <0.0004 <0.0004 <0.0004| <0.0004 <0.0004 0.004
YA—1,2-Y"900IFLYy <0.004 <0.004 <0.004| <0.004] <0.004 <0.004 <0.004 <0.004 0.04
Aty <0.001) <0.001 <0.001| <0.001| <0.001  <0.001| <0.001  <0.001 0.01
THEG- BIHEAMEER <0.06 2.7 1.9 0.38 <0.06 11 11 13 10
AoF 0.08 <0.08 <0.08 <0.08 0.12 <0.08 <0.08 <0.08 0.8
EPES <0.05 0.39 0.08 0.20 3.7 0.05 <0.05 <0.05 1
RiEKZE <0.002 <0.002  <0.002 —

"<"DEBIX. EETREXRETHAELXRLTLET,
(B Z X, ”<0.002” (&, 0,002mg/LKiH)




NILEE

TR22FEKEE=S) U THER

(B {31 :mg/L)

H22FEEE 1 B—1 B—2 B—3 B—4 b—5 |S—2—1/S—2—3| S—5 s—4 |

1oR24R. 258) 15?%}< 15?%}< iE'Fﬂ?K iE'Fﬂ?K 11;5?@ pEA K mk ik |REEE
Y nniay <0.002] <0002 <0002 <0002 <0002 <0002 <0.002 <0002 <0002 0.02
1,2-%°9aA14y < 0.0004| <0.0004 <0.0004 <0.0004 <0.0004 <0.0004 <0.0004 <0.0004 < 0.0004 0.004
1,2-"JAAIFLY <0.004 <0004 <0004 <0004 <0004 <0004 <0004 <0004 <0.004 0.04
NV <0.001| <0001  <0.001 0.001| <0.001 <0001 <0001 <0.001 <0.001 0.01
THER - BBAHER A B R < 0.06 2.1 2.4 0.07 0.24 4.6 1.5 7.6 7.6 10
ERE = <0.08 <0.08 <0.08 <0.08 <0.08 <0.08 <0.08 <0.08 <0.08 0.8
5% < 0.02 0.42 0.08 0.03 0.67 0.11 0.11 0.03 < 0.02 1
Bt Ve /7 — <0.0002| 00005 <0.0002, 0.0021 0.0003 ~ 0.0006 < 0.0002 <0.0002 < 0.0002 0.002
1,4-V"4%%Y <0.005 <0005 <0005 <0.005 0019/ <0.005 <0005 <0005 <0.005 0.05
Fib k%R - < 0.002 — — — — — <0002/ <0.002 —
¥1,2-v7 T LR, INECREEAENRFESIN TWEZYA-1,2-V /e F LA T A 1,2V /7T L

DB, GFFCHIT 228 Lo/cbDTT,
(1,2-V7npxFlLr=vA12-Y7pnxF Lo+ 7 2-12-Y7unxF L)

H224&E EE2[E B—1 B—2 B—3 B—4 b—5 [S—2—1/S—2—3 S—5 s—4 | ’
(SRZAR. 2R ORTOR) ik | ik | mid  smid  mrk  ReK ANk gk mwk |REEF
Y hAnrY <0.002| <0002 <0002 <0002 <0002 <0002 <0.002 <0002 <0.002 0.02
1,2-%"9aA14Y <0.0004| <0.0004 <0.0004 <0.0004 <0.0004 <0.0004 <0.0004 <0.0004 < 0.0004 0.004
1,2="JARIFLY <0.004 <0004 <0004 <0004 <0004 <0004 <0004 <0004 <0004 0.04
NV W) <0.001| <0001  <0.001 0.002| <0.001 <0001, <0001 <0.001  <0.001 0.01
THER - EAHERME B R < 0.06 2.0 4.6 0.13 <0.06 9.6 7.5 14 12 10
Aok 0.15 0.11 <0.08 <0.08 < 0.08 0.09 0.11 <0.08 <0.08 0.8
5% <0.05 0.41 <0.05 0.05 1.4 < 0.05 0.23 < 0.05 < 0.05 1
BV E/ 7 — <0.0002| <0.0002| <0.0002  0.0015 00003 <0.0002 <0.0002] <0.002 < 0.0002 0.002
1.4- 154y <0.005 <0005 <0005 <0.005 0052 <0.005 <0005 <0005 <0.005 0.05
Bibk®E - < 0.002 — — — — — <0002 <0.002 —

H224 E % 3[E B—1 B—2 B—3 B—4 b—5 [§-2-1/8-2-3/ $-5 S—4 |

TTRTSRNZER) | e bs | sbs b wwy REAK AWK @k sk |RRES
% hnnA4y <0.002] <0.002| <0.002 <0002 <0002/  <0.002 <0002  <0.002  <0.002 0.02
1,2-%"9EA14Y <0.0004| <0.0004| <0.0004/  0.0009| <0.0004 <0.0004 <0.0004 <0.0004  <0.0004 0.004
1,2-Y"JRAIFLY <0.004|  <0.004  <0.004 0.010 <0.004  <0.004 ~ <0.004  <0.004  <0.004 0.04
NV W) <0.001 <0.001 <0.001 0.002 0.001 <0.001 <0.001 <0.001 <0.001 0.01
THER - BAHERME B R <0.06 3.0 29  <0.06 0.09 5.2 7.4 11 6.5 10
EF = 0.30 <0.08 <0.08 <0.08 0.24 0.09 0.08 0.10 <0.08 0.8
5% <0.05 0.27 <0.05 0.13 2.2 <0.05 0.12 <0.05 <0.05 1
BtV E/ < — <0.0002| <0.0002, <0.0002/  0.0023 00004 <0.0002| <0.0002 <0.0002  <0.0002 0.002
1.4- 154y <0.005, <0.005| <0.005  <0.005 0.045/  <0.005  <0.005  <0.005  <0.005 0.05
BibkE - < 0.002 — — — — — <0002 <0.002 —
H22EFEE 4R B—1 B—2 B—3 B—4 b—5 |S—2—1/S—2—3 S—5 S—4 |
R Wi ik bk | win iy BEK AWK wk mak |FEER
% hnniay <0.002| <0002 <0002 <0.002 <0002 <0.002 — <0.002 < 0.002 0.02
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Y honray <0.002 | <0.002 | <0.002 | <0.002 | <0.002 <0.002 — <0.002 <0.002 — 0.02
1,2-"/AR14Y <0.0004 & <0.0004 | <0.0004 | <0.0004 | <0.0004 | <0.0004 — <0.0004 | <0.0004 — 0.004
1,2-ARIFbY <0.004 | <0.004 & <0.004 0.004 <0.004 <0.004 — <0.004 | <0.004 — 0.04
AVE'Y <0.001 <0.001 <0.001 <0.001 <0.001 <0.001 — <0.001 <0.001 — 0.01
THEL - BHEMERESR 0.14 36 0.75 0.26 0.12 7.4 — 22 14 13 10
Aok <0.08 <0.08 <0.08 <0.08 <0.08 <0.08 — <0.08 <0.08 — 0.8
5% <0.05 0.17 0.05 0.06 1.0 0.12 — <0.05 <0.05 — 1
BV E/ 7 — <0.0002 | <0.0002 | <0.0002 | 0.0006 | <0.0002 | <0.0002 — <0.0002 | <0.0002 — 0.002
1.4-V1%%Y <0.005 | <0.005 | <0.005 | <0.005 0.055 <0.005 — <0.005 <0.005 — 0.05
BibkE — <0.002 — — — — — <0.002 <0.002 — —
H25F E % 12[E B;1 Bt—‘z B;S B;4 bE—S S—2—1/S—2—-3| S—5 S—4 =1 sy
(3R108) oA EA L B el RHK EK @Kk EIK NI
Y hanr4ey - - - - — — — — — — 0.02
1,2-YJOA14Y - - - - — — — - - — 0.004
1,2-YARIFLY — - — — — — — — — — 0.04
Aty - - - - — — - - - — 0.01
THER - EAHERIEE R — — — — — — — 22 7.7 14 10
Aok — — — — — — - — — — 0.8
F5%F - - - - — — - <0.05 <0.05 — 1
ez E/ 7 — - - - - — — — — — — 0.002
1,414y - - - - — — - - - — 0.05
BibkE — — — — — — — — - - -
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RNILEEX FRH26FEEKEE=FI) TR 1/3)

(B3 :mg/L)

H26FE 51 H B—1 B—2 B—3 B—4 b—5 '§-2-1/8-2-3 S-5 S—4 =1 e
“ATTH) R N I oW B S - 1E S VTP S 2 S 1112 SR TP
Y ynnray - - - - — — — — — — 0.02
1,2-Y'JOAT4Y — — — — — — — — — — 0.004
1,2-Yyo0rFby - - - - — — — — — — 0.04
AVt - - - - — — — — — — 0.01
THES - BIHERME =R - — — — — 7.2 — 22 15 16 10
SoFk - - - - — — — — — — 0.8
[F5% - - - - — 0.06 — <0.05 <0.05 — 1
BIEE L E/ X — - - - - — — — — — — 0.002
1,4- 134y - - - - — — — — — — 0.05
HiEKE — - — — — — — — — — —
H26FE 5 2H B—1 B—2 B—3 B—4 b—5 '§-2-1/8-2-3 S-5 S—4 =1 s
GRuUzE) | B2 D ED B ifgjk BHUK | DK | Bk IR | IR
Y HA0raY <0.002 | <0.002 | <0002 | <0.002 | <0.002 | <0.002 | <0.002 | <0002 | <0.002 — 0.02
1,2-Y"AAI5y <0.0004 | <0.0004 | <0.0004 | <0.0004 | <0.0004 | <0.0004 | <0.0004 | <0.0004 | <0.0004 — 0.004
1,2-Y")AAIFLY <0.004 | <0.004 | <0.004 | <0.004 | <0.004 | <0.004 & <0.004 & <0.004 | <0.004 — 0.04
AUty <0.001 | <0.001 | <0001 | <0.001 | <0.001 | <0.001 | <0001 | <0.001 | <0.001 — 0.01
WHEL - BAHEAEESR | <0.06 2.9 0.71 0.29 <0.06 5.2 1.2 21 13 10 10
So% <0.08 <0.08 <0.08 <0.08 0.08 <0.08 <0.08 <0.08 <0.08 — 0.8
[F5% <0.05 0.13 0.05 0.11 0.81 0.16 0.22 <0.05 <0.05 — 1
WL -V E/ 7 — <0.0002 | <0.0002 | <0.0002 | 0.0005 | <0.0002 | <0.0002 | <0.0002 | <0.0002 | <0.0002 — 0.002
1,4- 134y <0.005 | <0.005 | <0.005 | <0.005 | 0.024 <0.005 | <0.005 | <0.005 | <0.005 — 0.05
Bk k& — <0.002 — — — — — <0.002 | <0.002 — —
H26 FEE3H B—1 B—2 B—3 B—4 b—5 |[S—2—1/S—2—-3| S-5 S—4 | 1-1 |impep;
(6B9H) B ER | BE | BE | BA | o . ~ . . RAEE
#TEK | MFJK O HTFOK | MRJK | FEOK Rk | Ak X AR Ak
¥ ynnisy - - - - — — — — — — 0.02
1,2-Y'JOAT4Y — — — — — — — — — — 0.004
1,2-Y9An1¥Ly - - - - — — — — — — 0.04
Aty - - - - — — — — — — 0.01
THE - BRI E R — - — — - 5.6 — 19 16 12 10
So%k - - - - — — — — — — 0.8
[F3% - - - - — 0.09 — <0.05 <0.05 — 1
BiEE-VE/ R — - - - - — — — — — — 0.002
1,4- 134y - - - - — — — — — — 0.05
Wik k& — — — — — — — — — — —
H26 FEF4 M B—1 B—2 B—3 B—4 b—5 '§-2-1/8-2-3 S-5 S—4 | -1 |impaw
(TA14E) pon s BR PR o mdk ANk Bk K AN
VLY, - - - - — — — — — — 0.02
1,2-Y9aA14Y — — — — — — — — — — 0.004
1,2-YyAn1FLY - - - - — — — — — — 0.04
AUty - - - - — — — — — — 0.01
THER- BIREREER - - - - — 4.4 — 16 13 8 10
Aok - - - - — — — — — — 0.8
[F3% - - - - — 0.20 — <0.05 <0.05 — 1
\IEEZVE/ R — - - - - — — — — — — 0.002
1,4-Y' 434 — — — — - - - - - — 0.05
€ - - - - — — — — — — —
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H26F E % 5[0 B—1 B—2 B—3 B—4 b—5 |S—2—1 8—2—3| S-5 S—4 =1
@R12 108 | BA L BD - RD L BD BPL mmk mik | @k mak ik | RREE
Y hanAgy <0.002 | <0.002 @ <0.002 | <0.002 & <0.002 <0.002 <0.002 <0.002 <0.002 — 0.02
1,2-7JA014Y <0.0004 | <0.0004 | <0.0004 | <0.0004 | <0.0004 & <0.0004 | <0.0004 | <0.0004 | <0.0004 — 0.004
1,2-90A1¥Ly <0.004 | <0.004 = <0.004 0.004 <0.004 <0.004 <0.004 | <0.004 & <0.004 — 0.04
Avt'Y <0.001 <0.001 <0.001 0.001 <0.001 <0.001 <0.001 <0.001 <0.001 — 0.01
THER - EEAHERIE =R 0.34 3.4 0.92 0.46 0.14 8.2 1.2 18 13 6.2 10
Aok <0.08 <0.08 <0.08 <0.08 <0.08 0.08 0.09 <0.08 <0.08 — 0.8
5% <0.05 0.20 0.05 0.28 0.44 0.28 0.30 <0.05 <0.05 — 1
BV E/ 7 — <0.0002 | <0.0002 = <0.0002 | 0.0012 | 0.0004 | <0.0002 | <0.0002 | <0.0002 | <0.0002 — 0.002
1.4-V1%4%y <0.005 | <0.005 = <0.005 | <0.005 0.022 <0.005 <0.005 <0.005 <0.005 — 0.05
bk %R — <0.002 — — — — — <0.002 <0.002 — —
H26 &£ E %6 B—1 B—2 B—3 B—4 b—5 |S—2—1/S8—2—-3| S-—5 S—4 -1 |
OAzE) | B BA B2 BD BN mwk | omik mk | ik mk | REEE
VWPV, - - — — — — — — — — 0.02
1,2-"/0014y — — — — — — — — — — 0.004
1,2-Yyo0rFly - - - - — — — — — — 0.04
AvE'Y — — — — — — — — — — 0.01
THES - BIHER M= R — — — — - 5.3 — 15 14 6.6 10
SoF - - - - — — — — — — 0.8
5% - - - - — 0.11 — <0.05 <0.05 — 1
BV E/ 7 — - - - - — — — — — — 0.002
1,4-V'4%%y - - - - — — — — — — 0.05
WibkE — — — — — — — — — — —
H26FE%E7[E B—1 B—2 B—3 B—4 b—5 ' S—2—1/S—2—-3| S—5 S—4 I—1 _ ,
GoRvR) | BA  E2 B2 BD AW mmk Ak mk ik ik | REEE
¥ hanrey - - - - — — — — — — 0.02
1,2-"JA014Y — — — — — — — — — — 0.004
1,2-Y")AAIFLY - - - — — — — — — — 0.04
AVE'Y — — — — — — — — — — 0.01
THEL - BEHEAMEER - — — — — 44 — 15 12 5.4 10
Aok - - - - — — — — — — 0.8
[F5% - - - - — 0.17 — <0.05 <0.05 — 1
BV E/ 7 — - - - - — — — — — — 0.002
1,4-Y 1442 - - - - — — — — - — 0.05
mibkE — — — — — — — — — — —
H26 & EE 8 B—1 B—2 B—3 B—4 b—5 S—2—1/S—2—-3 S—5 S—4 -1 |
(TR | A2 | EL B BL M mmk oAk @k mik ik | REEE
VWPV, <0.002 | <0.002 | <0.002 | <0.002 | <0.002 <0.002 — <0.002 <0.002 — 0.02
1,2-%79A014y <0.0004 | <0.0004 | <0.0004 | <0.0004 | <0.0004 & <0.0004 — <0.0004 | <0.0004 — 0.004
1,2-YARIFLY <0.004 & <0.004  <0.004 0.004 <0.004 <0.004 — <0.004 | <0.004 — 0.04
AUty 0.001 <0.001 <0.001 <0.001 <0.001 <0.001 — <0.001 <0.001 — 0.01
THER - EAHERIEE R <0.06 0.63 2.8 0.19 <0.06 5.4 — 19 13 7.8 10
Aok <0.08 <0.08 <0.08 <0.08 <0.08 <0.08 — <0.08 <0.08 — 0.8
5% <0.05 0.16 0.05 0.22 0.85 0.09 — <0.05 <0.05 — 1
BV E/ 7 — <0.0002 | <0.0002 | <0.0002 | 0.0005 | 0.0002 | <0.0002 — <0.0002 | <0.0002 — 0.002
1.4-V1%%Y <0.005 | <0.005 | <0.005 | <0.005 0.023 <0.005 — <0.005 <0.005 — 0.05
BibkE - <0.002 — — — — — <0.002 <0.002 — —
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H264FE oM B—1 B—2 B—3 B—4 b—5 ' S—2—1 S—2—3 S—5 S—4 I—1 _ Q
(12H5H) R T B W fgjk Bk ANk | Bk ANk ik | REEE
Y hanAgy — — — — — — — — — — 0.02
1,2-¥°h0014y — — — — — — — — — — 0.004
1,2-Y9AnTFLY - - - - — — — — — — 0.04
Avt'Y — — — — — — — — — — 0.01
THER - EIHEETEE R — — — — — 6.2 — 17 14 9 10
SoF - - - - — — — — — — 0.8
[F5% - - - - — 0.11 — <0.05 <0.05 — 1
\IbE -V E/ R — — — — — — — — — — — 0.002
1,4- 134y - - - - — — — — — — 0.05
Bibk=H — — — — — — — — — — —
H26EEE10ME B—1 B—2 B—3 B—4 b—5 |S—2—1/S8—2—-3| S-—5 S—4 -1 |
GRegy | A2 BA B BL B Rk k| mk | mik mnk | RREE
VWPV, — — — — — — — — — — 0.02
1,2-¥°h0014y — — — — — — — — — — 0.004
1,2-Yyo0rFly - - - - — — — — — — 0.04
AVEY — — — — — — — — — — 0.01
THES - BIHER M= R — — — — — 1.7 — 19 15 11 10
Aok - - - - — — — — — — 0.8
[F5% - - - - — 0.15 — <0.05 <0.05 — 1
BiEEzVE/ 3 — - - - - — — — — — — 0.002
1,4- 134y - - - - — — — — — — 0.05
Wb kR — — — — — — — — — — —
H26FEEE11E B—1 B—2 B—3 B—4 b—5 ' S—2—1/S—2—-3| S—5 S—4 I—1 _ .
(@Rs6R) | BA A2 B2 BD AW mmk Ak mk ik sk | REEE
Y honray <0.002 | <0.002 | <0.002 | <0.002 <0.002 <0.002 — <0.002 <0.002 — 0.02
1,2-"/AR14Y <0.0004 & <0.0004 | <0.0004 | <0.0004 | <0.0004 | <0.0004 — <0.0004 | <0.0004 — 0.004
1,2-ARIFbY <0.004 | <0.004 & <0.004 0.004 <0.004 <0.004 — <0.004 <0.004 — 0.04
AUty <0.001 <0.001 <0.001 <0.001 0.001 <0.001 — <0.001 <0.001 — 0.01
THER - EAHEREE R 0.13 3.7 2.4 0.36 <0.06 6.7 — 19 14 12 10
Ao% 0.10 <0.08 <0.08 <0.08 <0.08 0.08 — <0.08 <0.08 — 0.8
F5% <0.05 0.18 0.06 0.41 0.68 0.15 — <0.05 <0.05 — 1
BV E/ 7 — <0.0002 | <0.0002 | <0.0002 | 0.0002 | <0.0002 | <0.0002 — <0.0002 | <0.0002 — 0.002
1,4-Y' %%y <0.005 | <0.005 | <0.005 0.006 0.013 <0.005 — <0.005 <0.005 — 0.05
BibkE — <0.002 — — — — — <0.002 <0.002 — —
H26FE ¥ 12[E B—1 B—2 B—3 B—4 b—5 |S—2—1/S—2—-3| S-5 S—4 I—1 i
(3A6H) gL ma RL R3O BR O mmk mmk o ko Ak | mk | RREER
Y hanr4ey - - - - — — — — — — 0.02
1,2-YJOA14Y - - - - — — — - — — 0.004
1,2-YARIFLY - - — — — — — — — — 0.04
Aty - - - - — — - - — — 0.01
THER - EAHERIEE R — — — — — 5.6 — 18 12 9.1 10
Ao% — — — — — — - — — — 0.8
F5%F - - — — — 0.21 — <0.05 <0.05 — 1
ez E/ 7 — - - - - — — — — — — 0.002
1,414y - - - - — — - - — — 0.05
BibkE — — — — — — — — — - -
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(Bf5I:mg/L)

H27FEE 1 B;1 Bijz B;S Bi—‘4 bE—5 S—2—1/8S—2—-3| S—5 S—4 =1 |mpp
(47178) A I o A N U ORI TE S TTE S 2 S TIE o TITES
Y hnnray - — — — — — — — — — 0.02
1,2-Y"hOn14y — - - - - - — — — — 0.004
1,2-"900IFLy — — — — — - — — - - 0.04
AUty — — — — — — — — - - 0.01
THER - BRAHER AR R — 36 — 0.36 0.07 44 1.2 17 11 7.8 10
A% — <0.08 — <0.08 <0.08 — 0.09 — — — 0.8
F5% — 0.19 — 0.53 1.3 0.19 0.15 <0.05 <0.05 — 1
EIiEE = VE/ 7 — — <0.0002 — 0.0003 | <0.0002 — <0.0002 — — — 0.002
1,4- %%y — <0.005 — 0.007 0.054 — <0.005 — — — 0.05
mib k& - — - - - - - - - — —
H27FEEE2[0 B;1 thjz E::3 B;4 b—6 [§-2-1/8§-2-3] S-5 S—4 =1 e
(5821, 226) 1 f‘F%k 1 f%ﬂ]}( t f%@]k , E‘F%k ifTij Bk | ANk | EK | ENK Ak
Y InArMY <0.002 | <0.002 | <0.002 | <0.002 | <0.002 | <0.002 | <0.002 | <0.002 | <0.002 — 0.02
1,2-Y")0AT4Y <0.0004 | <0.0004 | <0.0004 | <0.0004 | <0.0004 | <0.0004 | <0.0004 | <0.0004 | <0.0004 — 0.004
1,2-Y"9RAIFLY <0.004 | <0.004 | <0.004 | <0.004 | <0.004 | <0.004 | <0.0004 | <0.004 | <0.0004 — 0.04
AVtE'Y <0.001 <0.001 | <0.001 0.001 <0.001 <0.001 <0.001 <0.001 <0.001 — 0.01
THER- B RER <0.06 3.5 2.1 0.35 <0.06 4.4 2 15 13 8.6 10
A& <0.08 <0.08 <0.08 <0.08 <0.08 <0.08 <0.08 <0.08 <0.08 — 0.8
F5% <0.05 0.19 0.05 0.56 1.7 0.19 0.15 <0.05 <0.05 - 1
BtV E/ 7— <0.0002 | <0.0002 | <0.0002 | 0.0005 = <0.0002 | <0.0002 | <0.0002 & <0.0002 | <0.0002 — 0.002
1,4- %%y <0.005 | <0.005 | <0.005 0.006 0.056 <0.005 | <0.005 | <0.005 | <0.005 — 0.05
b kK& — <0.002 — — — — — <0.002 | <0.002 — —
H27 FEE3[E B;1 Bi—‘2 E::3 B:4 bE—5 S—2—1/8S—2—-3 S—5 S—4 =1 |imppe
(6A3, 128) |l R B OBk K | @k Ak | Ak
YRy — — — - - — — - — — 0.02
1,2-Y°h0nI4y — — — — - — — — — — 0.004
1,2-"90AIFLY — — — — — — — — — — 0.04
NVEY — — — — — — — — — — 0.01
THEL - EHEERMEESR — 3.6 — 0.35 <0.06 2.7 35 9.2 6.1 3.7 10
SoF% - <0.08 — <0.08 <0.08 — <0.08 — — — 0.8
5% — 0.20 — 0.49 1.4 0.68 0.32 <0.05 <0.05 — 1
BV E/7— — <0.0002 — <0.0002 | <0.0002 — <0.0002 — — — 0.002
1,4- %%y — <0.005 — 0.005 0.036 — <0.005 — — — 0.05
Bibk=E — — — — — — — — — — —
H27 FEE 4 B;1 B;g B;3 B;4 b—5 /§—-2—-1/8§-2-3 S$-5 S—4 =1 | jmym s
(7R1.108) A I L I A R W ORI T S TTE S 2 S TIE S TITE S
YRy - — — - - — — — — — 0.02
1,2-Y"h0nI4y — — — — — — — — — — 0.004
1,2-Y"90AIFLY — — — — — — — — — — 0.04
AVt — — — - - — — — — — 0.01
THER - HIHERR R R — 3.7 — 0.34 0.09 2.6 1.0 17 9.8 5.2 10
A% — <0.08 — <0.08 <0.08 — <0.08 — — — 0.8
F5% - 0.21 - 0.18 0.97 1.1 0.09 <0.05 <0.05 — 1
BV E/ R — — <0.0002 — 0.0006 | <0.0002 — <0.0002 — — — 0.002
1,4- %%y — <0.005 — <0.005 0.014 — <0.005 — — — 0.05

bk ®R
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(BA{I:mg/L)

H27 FE 5[ B;1 Bt—‘z thjs B;4 b—5 8§—2-1 S—2—-3 S-5 S—4 =1 | imimase
(8A10, 18, 218) NN N N N G T W T2 SR TTTE S 2 S 1 S (e X
Y hnnray <0.002 | <0.002 | <0.002 | <0.002 & <0.002 | <0.002 | <0.002 | <0.002 | <0.002 — 0.02
1,2-"90014y <0.0004 | <0.0004 | <0.0004 | <0.0004 & <0.0004 | <0.0004 | <0.0004 | <0.0004 | <0.0004 — 0.004
1,2-Y"9OAIFLY <0.004 | <0.004 | <0.004 | <0.004 | <0.004 | <0.004 | <0.004 | <0.004 | <0.004 — 0.04
AVt'Y <0.001 | <0.001 | <0.001 0.001 <0.001 <0.001 <0.001 <0.001 <0.001 — 0.01
THER - HIHERR AR R <0.06 35 43 0.36 0.14 3.0 3.2 15 13 6.9 10
AoFk <0.08 <0.08 <0.08 <0.08 1.4 0.14 0.16 <0.08 <0.08 — 0.8
5% <0.05 0.21 0.06 0.30 7.5 0.61 0.61 <0.05 <0.05 — 1
B LE/7— <0.0002 | 0.0004 | <0.0002 | <0.0002 & <0.0002 | <0.0002 | <0.0002 | <0.0002 | <0.0002 — 0.002
1,4-" 134y <0.005 | <0.005 | <0.005 | <0.005 0.11 <0.005 | <0.005 | <0.005 | <0.005 — 0.05
HibKk%= - <0.002 — — — — — <0.002 <0.002 — —
(BA{3f :mg/L)
H27EE % 6[H B—1 B—2 B—3 B—4 b—5 |S—2—1/S—2—3| S—5 S—4 =1 |
ST Wk | Tk i | T sk | RHK | AN mK sk ik | FEER
Y yanrgy - - - — — - — - — — 0.02
1,2-Y"9nA14Y — — — — — — — — — — 0.004
1,2-"90AIFLY — — — — — — — — — — 0.04
AVtE'Y — — — — — — — — — — 0.01
THER- B RER - 3.9 — 0.12 0.18 2.3 1.4 16 9.2 75 10
A% — <0.08 — 0.09 1.9 — 0.10 — — — 0.8
F5% - 0.19 - 0.51 75 0.36 0.20 <0.05 <0.05 - 1
BV E/ 7 — — <0.0002 — 0.0005 | 0.0007 — <0.0002 — — — 0.002
1,4- %%y — <0.005 — 0.008 0.069 — <0.005 — — — 0.05
ALK — — — — — — — — — — —
(B mg/L)
H27EEE7[E B—1 B—2 B—3 B—4 b—6 |§—2-1/8-2-3| S-5 S—4 =1 |
HORS, 28, 28R Wik | ik sE | sk | REK AWK @k mik k| REES
YT HRnrey — — — — — — — — — — 0.02
1,2-9"9nn14y - — — — — — — — — — 0.004
1,2-")00IFLY — — — — — — — — — — 0.04
NI — — — — — — — — — — 0.01
THEL - BRHEAIEER — 3.9 — 0.12 — 3.9 6.6 16 12 7.2 10
A% <0.08 <0.08 <0.08 <0.08 B 0.10 <0.08 _ _ _ 08
<0.08 <0.08 <0.08 <0.08 0.08
F5% <0.05 0.20 0.05 0.53 _ 0.25 014 €0.05 <0.05 _ 1
<0.05 0.20 <0.05 0.73 0.22
Bz VE/ 7 — — <0.0002 — 0.0005 — — <0.0002 — — — 0.002
1,4- %%y — <0.005 — 0.010 — — <0.005 — — — 0.05
Bibk=* — — — — — — — — — — —
- BERGEHAOH T K (b-5)IZDOWTIE 10AREHFHEDELEED THBFEREITICENTEGA 1
. F—AIZRIE (N/A) E>TOET A, BERTED M TKZCHSFTAFEER DOV TH2EREDATEE
L. ABREICHEDTNEFERLTVET,
(BAL :mg/L)
H27 FE 8 B—1 B—2 B—3 B—4 b—5 |S—2—1 S—2—3 S—5 S—4 =1 | :
(1AsS.18.14.308) | EA | WA | BB BL o AP mmk | mik @k ok ik | RREE
Y HnnAaYy <0.002 | <0.002 | <0.002 | <0.002 & <0.002 | <0.002 — <0.002 | <0.002 — 0.02
1,2-Y"h0AT4Y <0.0004 | <0.0004 | <0.0004 | <0.0004 | <0.0004 | <0.0004 — <0.0004 | <0.0004 — 0.004
1,2-"90AIFLY <0.004 | <0.004 | <0.004 | <0.004 | <0.004 | <0.004 — <0.004 | <0.004 — 0.04
NV <0.001 | <0.001 | <0.001 0.001 <0.001 <0.001 — <0.001 <0.001 — 0.01
THER - BAHER AR R <0.06 41 1.2 <0.06 <0.06 6.4 6.5 17 15 7.3 10
Ao <0.08 <0.08 <0.08 0.09 0.13 0.09 <0.08
<0.08 <0.08 — 0.8
<0.08 <0.08 <0.08 0.1 0.12 0.10 <0.08
F5% <0.05 0.18 <0.05 1.0 0.83 0.21 0.20 <005 <0.05 _ 1
<0.05 0.18 <0.05 0.96 0.70 0.26 0.15
B VE/7— <0.0002 | <0.0002 | <0.0002 | 0.0003 | <0.0002 | <0.0002 | <0.0002 | <0.0002 | <0.0002 — 0.002
1,4-" 134y <0.005 | <0.005 | <0.005 0.016 0.013 <0.005 | <0.005 | <0.005 | <0.005 — 0.05
Hibk% - <0.002 — — — — — <0.002 <0.002 — —

8. 9A . FEHBEADH T K (b-5) [CEVT, BRED SR, [FIRMREINFIENS, 10, 118 [XE T
FAHEDMTKFIZETIRERICOVWTA2EREEDREEERL. FIREICEE

DIENEEHERLTVET,




ALUEEX FRH27EEKEE=R)TH#E(3/3)

(BA{I:mg/L)

H27 FE59[m B—1 B—2 B—3 B—4 b—5 |§—2—1|S—2—3| S—-5 §—4 =1
(1ZATNE) oL | B2 RmD o mA L SR sk Ak @k mak ik | REEE
Y hanry — — — — — — — — - - 0.02
1,2-"90n14y — — — — — — — — — - 0.004
1,2-"900IFLYy — — — — — - — — — — 0.04
AVtY — — - — — — - - — — 0.01
THER - HIHERR AR R — 3.9 — 0.13 <0.06 4.4 2.4 16 7.3 5.8 10
A% — <0.08 — 0.08 0.13 — 0.09 — — — 0.8
5% — 0.18 — 0.90 0.92 0.66 0.16 <0.05 <0.05 — 1.0
BV E/ R — — <0.0002 — <0.0002 | <0.0002 — <0.0002 — — — 0.002
1,4-" 1%y — <0.005 — 0.010 0.018 — <0.005 — — — 0.05
BibkE — — — — — — — — — — —
(B{S1: mg/L)
H27&£E$10[H B—1 B—2 B—3 B—4 b—6 [§-2-1/8-2-3 S-5 sS—4 =1 |
(1R15. 18H) R I A N U ORI TIE S ITE S 2 S TIE o TITES RIEER
Y HNAMY — - - — — — — — — — 0.02
1,2-"90n14y — - — — — — — — — — 0.004
1,2-4"900IFLY — — — — — — — — — — 0.04
NI — — — — — — — — — — 0.01
THEL - EEE M ESR — 38 — 0.18 <0.06 6.3 46 14 21 12 10
A%k — <0.08 — <0.08 <0.08 — 0.08 — — — 0.8
F5% - 0.16 — 1.0 1.5 0.16 0.17 <0.05 <0.05 - 1.0
EEZVE/ T — — <0.0002 — 0.0004 | 0.0002 — <0.0002 — — — 0.002
1,4-V %%y — <0.005 — 0.013 0.060 — <0.005 — — — 0.05
JII./”:7K§ - - - - - - - - - - -
(BAfL :mg/L)
H27&FE$E11[E B—1 B—2 B—3 B—4 b—5 |S—2—1/S—2—3| S—5 S—4 =1
(2R 128) Joa o Bmn o BD B2 2B mwk ok @k mik |k | RREE
Y hnniay <0.002 | <0.002 | <0.002 | <0.002 & <0.002 | <0.002 — <0.002 | <0.002 — 0.02
1,2-Y"h0AT4Y <0.0004 | <0.0004 | <0.0004 | <0.0004 & <0.0004 | <0.0004 — <0.0004 | <0.0004 — 0.004
1,2-"9AAIFLY <0.004 | <0.004 | <0.004 | <0.004 | <0.004 | <0.004 — <0.004 | <0.004 — 0.04
AvtY <0.001 | <0.001 | <0.001 0.001 0.001 <0.001 — <0.001 <0.001 — 0.01
THER- IR ERER <0.06 3.6 1.4 0.13 <0.06 7.1 4.4 23 14 9.6 10
AoFE <0.08 <0.08 <0.08 0.16 0.14 0.08 0.08 <0.08 <0.08 — 0.8
F5% <0.05 0.17 <0.05 1.30 15 0.15 0.10 <0.05 <0.05 — 1.0
EEZVE/ 7 — <0.0002 | <0.0002 | <0.0002 | 0.0002 = <0.0002 | <0.0002 | <0.0002 | <0.0002 | <0.0002 — 0.002
1,4- %%y <0.005 | <0.005 | <0.005 0.013 0.055 <0.005 | <0.005 @ <0.005 | <0.005 — 0.05
b k& — <0.002 — — — — — <0.002 | <0.002 — —
(BA{I:mg/L)
H27 & EE 12 B—1 B—2 B—3 B—4 b—5 |[S—2—1S—2—-3| S—5 S—4 =1
(3R4B) R | B2 D mA L SRk omk @k mnk ik | REEE
Y nnrgy - — - — — - — - - — 0.02
1,2-"/0A14Y — — — — — — — — — — 0.004
1,2-Y"9AATFLY — — — — — — — — — — 0.04
Aty - - - — — - — — — — 0.01
THEL - EHEBMEESR — 34 — 0.26 <0.06 5.9 1.9 22 15 14 10
A0oFE — <0.08 — <0.08 0.23 — <0.08 — — — 0.8
F5% — 0.19 — 1.0 2.8 0.16 0.05 <0.05 <0.05 — 1.0
BV E/ 7 — — <0.0002 — <0.0002 | <0.0002 — <0.0002 — — — 0.002
1,4-" 1%y — <0.005 — 0.015 0.13 — <0.005 — — — 0.05
Bibk*E — — — — — — — — — — —

"<"DREE. EETRERBETHAIEERLTLET,
(A1, 7<0.002” (%, 0.002mg/LkK &)




RAILEE FR28FEEKBEE=R)THE(1/3)

(B {51 :mg/L)
H28FEFE 1A Bt—‘1 Bi—‘z B;3 B;4 b—5 1§-2-1/§-2-3 S-5 S—4 =1 e
(“A7.15. 258) e R Rk ANk | Bk K K
Y hnnrey - — — - - - — — — — 0.02
1,2-°9n014y - — — - - - — — — — 0.004
1,2-°9001FLY - - - - - — — — — — 0.04
NV — — — — — — — — — — 0.01
THEL - BIHEREE R — 3.7 — 0.42 <0.06 4.2 0.82 22 12 16 10
Aok — <0.08 — <0.08 0.19 — <0.08 — — — 0.8
EPES - 0.18 - 092 4.0 0.47 0.05 <0.05 <0.05 - 1
0.90
Bz E/ 7 — — <0.0002 — <0.0002 = <0.0002 — <0.0002 — — — 0.002
1,4-V" 134y — <0.005 — 0.009 0.14 — <0.005 — — — 0.05
ALK& — — — — — — — — — — —
(BA{ir:mg/L)
H28F EE2[H B;1 Btjz B;3 B;4 bE—5 S—2—1/8—2—3| S—5 S—4 =1 |impne
(5R6R) el A B RHUK ANk Bk K Ak
Y hnniay <0.002 = <0.002 | <0.002 | <0.002  <0.002 & <0.002 | <0.002 | <0.002 | <0.002 — 0.02
1,2-Y")OAI4y <0.0004 <0.0004 & <0.0004 | <0.0004 <0.0004 <0.0004 <0.0004 <0.0004 <0.0004 — 0.004
1,2-Y°9A01FLY <0.004  <0.004 & <0.004 | <0.004  <0.004  <0.004 | <0.004 & <0.004 = <0.004 — 0.04
NV <0.001 = <0.001 = <0.001 | <0.001 0.001 <0.001 <0.001 <0.001 <0.001 — 0.01
THER - BIHBR AR R 0.43 35 0.73 0.31 <0.06 5.5 2.1 22 14 18 10
Aok <0.08 <0.08 <0.08 <0.08 0.17 0.10 <0.08 <0.08 <0.08 — 0.8
5% <0.05 0.19 <0.05 0.8 3.7 0.40 0.14 <0.05 <0.05 — 1
Bz LE/ 7 — <0.0002 = <0.0002 @ <0.0002 | <0.0002 @ <0.0002 & <0.0002 | <0.0002 | <0.0002 @ <0.0002 — 0.002
1,4-Y" 3%y <0.005 = <0.005 = <0.005 0.010 0.099 <0.005 | <0.005 | <0.005 = <0.005 — 0.05
RibKZE - <0.002 — - - - — <0.002 <0.002 — —
(BT :mg/L)
H28F E £ 3E B;1 B:jz B:—‘S B;4 b—5 §-2-1/§-2-3 S-5 S—4 =1 e
(6A10, 138) N L N L N L A SV T S I S = S (1TE o fITES
¥ hnnry - — — - - - — — — — 0.02
1,2-°9A014y - — — - - - — - — — 0.004
1,2-Y°9AA1FbY — — — — — — — — — — 0.04
Aty - — — — — — - — - — 0.01
THEL - BEHER A E R — 4.2 — 0.24 <0.06 5.2 1.5 18 15 17 10
Aok — <0.08 — 0.08 0.23 — 0.08 — — — 0.8
5% — 0.15 — 1.1 5.0 0.32 0.14 <0.05 <0.05 — 1
BV E/ R — — <0.0002 — 0.0002 = <0.0002 — <0.0002 — — — 0.002
1,4-"13%y — <0.005 — 0.014 0.17 — <0.005 — — — 0.05
JIL1I:7K§ - - - - - - - - - - -
(BA{iL:mg/L)
H28F EE 4 B;1 Bt—‘z B;3 B;4 b—6 '§-2-1/8-2-3 $-5 S—4 =1 | imympse
(1R8.228) e B B ROk ANk | Bk Ik Ak
Y hnnray - — — - - - - — — — 0.02
1,2-")OAI4y — — — — — — — — — — 0.004
1,2-Y9A01FbY - — — - - - — — — — 0.04
ANty - — — - - - — - - - 0.01
THEL - BAHBR A E R - 3.9 — 0.40 0.06 3.4 35 16 11 13 10
Aok — <0.08 — 0.09 0.23 — 0.10 — — — 0.8
Z5% - 0.14 —~ 1 'g 50 065 | 013 | <005 <005 | — !
BV E/ 7 — — <0.0002 — 0.0002 = 0.0002 — <0.0002 — — — 0.002
1,4-"1%%y — <0.005 — 0.013 0.088 — <0.005 — — 0.05
BibkE — — — — — — — — — — —

"<'"DRESE. EETRERBTHOSLERLTLET,
(HIZIF, 7<0.002” (. 0,002mg/ LK )




RAILEE FH28FEEKBEE=R)THE(2/3)

(B {51 :mg/L)

H28 & EE5ME Bt—‘1 Bt—‘z B;3 B;4 b—5 '§-2-1/8-2-3 §-5 S—4 =1 ympmgse
(875, 248) e R Rk ANk | Bk K K
Y hnnr4y <0.002  <0.002 = <0.002 | <0.002  <0.002 = <0.002 | <0.002 | <0.002 | <0.002 — 0.02
1,2-")aAI4y <0.0004 = <0.0004 | <0.0004 | <0.0004 <0.0004 <0.0004 | <0.0004 @ <0.0004 @ <0.0004 — 0.004
1,2-Y"9A01FbY <0.004  <0.004 = <0.004 | <0.004 <0.004  <0.004 @ <0.004 = <0.004  <0.004 — 0.04
AUty <0.001 = <0.001 = <0.001 | <0.001 0.001 <0.001 <0.001 <0.001 <0.001 — 0.01
THEL - BIHEREE R <0.06 3.7 2.1 <0.06 <0.06 3.4 4.1 16 12 14 10
Aok <0.08 <0.08 <0.08 <0.08 0.18 0.11 0.10 <0.08 <0.08 — 0.8
5% <0.05 0.22 0.05 0.91 2.2 0.39 0.16 <0.05 <0.05 — 1
Bz LE/ 7 — <0.0002 = <0.0002 <0.0002 | <0.0002 @ <0.0002 @ <0.0002 & <0.0002 & <0.0002  <0.0002 — 0.002
1,4-0" 134y <0.005 = <0.005 @ <0.005 0.009 0.037 <0.005 | <0.005 | <0.005 = <0.005 — 0.05
Fb KR - <0.002 — — — — — <0.002 | <0.002 — —
(B {51 :mg/L)
H28&E E %6 B—1 B—2 B—3 B—4 b—5 '§-2-1/8-2-3 §-5 S—4 =1
(979, 238) Jn o ma o B BL SR Bk ik | ko mik o mak | REEE
¥ hnnray - — — - - - — — - — 0.02
1,2-"hOnI4y — — — — — — — — — — 0.004
1,2-Y"y001FLy — — - — — — — — — — 0.04
AUty — — — — — — — — — — 0.01
THEL- IR ER - 3.8 — 0.33 0.20 3.9 2.3 19 14 14 10
Aok — <0.08 — 0.08 0.15 — 0.10 — — — 0.8
5% — 0.21 — 1.5 2.3 0.29 0.23 <0.05 <0.05 — 1
Bz E/ 7 — — <0.0002 — 0.0003 = <0.0002 — <0.0002 — — — 0.002
1,4-"13%y — <0.005 — 0.016 0.091 — <0.005 — — — 0.05
Bibk=*R — — — — — — — — — — —
(BA{iL:mg/L)
H28& EFE 7[H B—1 B—2 B—3 B—4 bE—5 S—2—1/S—2—3 S—5 S—4 =1 | :
(10R7.17.288) N LN L N L S T S T S = S (1TE o fITES RIRER
Y anrgy - — - - - - — — - — 0.02
1,2-'90014y — — — — — — — — — — 0.004
1,2-%"yAnTFLy - — — - - - — — - — 0.04
AVUEY - - - - - - — — - — 0.01
THEL - BIHER A E R — 38 — 0.06 <0.06 48 3.6 19 11 12 10
Aok — <0.08 — <0.08 0.14 — <0.08 — — — 0.8
#5% — 0.18 — I 2.1 0.66 0.19 <0.05 <0.05 — 1
0.89
BV E/ R — — <0.0002 — 0.0002 = <0.0002 — <0.0002 — — — 0.002
1,4-"13%y - <0.005 — 0.012 0.064 — <0.005 — — — 0.05
bk — — — — — — — — — — —
(BA{:mg/L)
H28FE 5 8[H B—1 B—2 B—3 B—4 b—5 '§-2-1/8-2-3 §-5 S—4 =1 |
(1174, 8R) on Bn o EmD o BD O OB O msmk oAk mk ok ik | RREE
Y haniey <0.002 = <0.002 | <0.002 | <0.002 @ <0.002 & <0.002 | <0.002 | <0.002 | <0.002 — 0.02
1,2-Y°9AA14Y <0.0004 <0.0004 @ <0.0004 | <0.0004 <0.0004 <0.0004 <0.0004 <0.0004 = <0.0004 — 0.004
1,2-Y°9AA1FLY <0.004 = <0.004 = <0.004 | <0.004 <0.004  <0.004 & <0.004 | <0.004 | <0.004 — 0.04
NV <0.001 = <0.001 = <0.001 | <0.001 0.001 <0.001 <0.001 <0.001 <0.001 — 0.01
THEL - BAHER A E R 0.23 3.7 2.0 0.15 <0.06 5.8 5.4 17 13 16 10
Aok <0.08 <0.08 <0.08 0.08 0.11 0.10 <0.08 <0.08 <0.08 — 0.8
5% <0.05 0.17 <0.05 0.99 1.9 0.30 0.09 <0.05 <0.05 — 1
BV E/ R — <0.0002 = <0.0002 & <0.0002 | <0.0002 @ <0.0002 = <0.0002 | <0.0002 | <0.0002 @ <0.0002 — 0.002
1,4-V"1%4y <0.005 = <0.005 = <0.005 0.014 0.058 <0.005 | <0.005 | <0.005 = <0.005 — 0.05
Fib k3K — <0.002 — — — — — <0.002 = <0.002 — —

- "<"OFESIE. EETRERBETHHIZLERLTVLET,
(HIZIF, 7<0.002” (. 0.002mg/ LK )

8. 9A . FEEHMADHTIK(b-5) [CENT, —RHICSORBLVESRRENEFLCEMN D, BB R {11 (B-4)

DU TKIZEITEHRIERICOVWTA2RREREDREZRREL . LR

— B/ 38R
EE

DIFNEZHERLTVET,




RAILEE FH28FEEKBEE=R)THE(3/3)

(B {51 :mg/L)

H28FEFE oM B—1 B—2 B—3 B—4 b—5 '§-2-1/8-2-3 §-5 S—4 =1 | _
AR MRk | ik | mk | ik wix | REK AR Bk ik ik | REEE
Y hnnrey - — — - - - — — — — 0.02
1,2-°9n014y - — — - - - — — — — 0.004
1,2-°9001FLY - - - - - — — — — — 0.04
AUty — — — — — — — — — — 0.01
THEL - BIHEREE R — 38 — 0.27 <0.06 5.0 5.0 19 14 16 10
Ao% — <0.08 — 0.12 0.10 — <0.08 — — — 0.8
ESES - 0.12 — 1.8 1.2 0.16 0.12 <0.05 <0.05 - 1.0
EIEE L E/ R — — <0.0002 — 0.0002 = <0.0002 — <0.0002 — — — 0.002
1.4-0" 134y - <0.005 — 0.029 0.038 — <0.005 — — — 0.05
Bibk=*R — — — — — — — — — — —
(BA{iL:mg/L)
H284&E 5 10/ B—1 B—2 B—3 B—4 b—5 '§-2-1/8§-2-3 §-5 S—4 =1 |
(176, 238) on | ma o B BL R mmk mik | Bk ik mnk | REER
Y hnnray - — — - - - - — — — 0.02
1,2-")OAI4Yy — — — — — — — — — — 0.004
1,2-Y°9AR1FbY - — — - - - — — - — 0.04
VAV, - — — — — - — - - — 0.01
THER - BIHER AR R - 3.4 0.26 <0.06 43 2.3 20 14 20 10
A% — <0.08 — 0.13 0.13 — <0.08 — — — 0.8
F5%K - 0.12 — 2.1 1.9 0.13 0.08 <0.05 <0.05 - 1.0
Bl ZLE/ 7 — - <0.0002 - 0.0002 = <0.0002 - <0.0002 - - - 0.002
1,4-V"1%4y — <0.005 — 0.024 0.065 — <0.005 — — — 0.05
JIL1|:7K§ - - - - - - - - - - -
(BA{ir:mg/L)
H28&FEE 11 B—1 B—2 B—3 B—4 b—5 '§-2-1/8§-2-3 §-5 S—4 =1 | :
(2R10.178) el B B RHUK ANk Bk K Ak RREE
Y hnniay <0.002  <0.002 @ <0.002 | <0.002  <0.002 @ <0.002 — <0.002 = <0.002 — 0.02
1,2-Y")OAI4Yy <0.0004 = <0.0004 @ <0.0004 | <0.0004 @ <0.0004 = <0.0004 — <0.0004 = <0.0004 — 0.004
1,2-Y°9A01FLY <0.004  <0.004 @ <0.004 | <0.004  <0.004  <0.004 — <0.004 @ <0.004 — 0.04
AVt <0.001 <0.001 <0.001 0.001 <0.001 <0.001 — <0.001 <0.001 — 0.01
THER - BIHBR AR R 0.08 3.4 2.0 0.27 <0.06 2.5 3.2 20 13 7.8 10
A% <0.08 <0.08 <0.08 0.1 0.16 <0.08 <0.08 <0.08 <0.08 — 0.8
F5% <0.05 0.12 <0.05 1.8 2.4 0.10 0.11 <0.05 <0.05 — 1.0
B L/ 7 — <0.0002 = <0.0002 & <0.0002 | <0.0002 @ <0.0002 @ <0.0002 | <0.0002 | <0.0002 @ <0.0002 — 0.002
1,4-0"1%4%y <0.005 = <0.005 = <0.005 0.021 0.095 <0.005 | <0.005 | <0.005 = <0.005 — 0.05
RibkKZE - <0.002 — - - — — <0.002 <0.002 — —
(B :mg/L)
H284 E % 12[H] B—1 B—2 B—3 B—4 b—5 §-2-18-2-3 §-5 S—4 =1 |
(3R3R) on  BD o EmD o BD R msmk Ak mk ko ik | RREE
Y hnnrgy - — — - - - — — — — 0.02
1,2-°9A014y - — — - - - — - — — 0.004
1,2-Y°9A01FbY — — — — — — — — — — 0.04
AUty - — - - - - — — — — 0.01
THEL - BAHER A E R — 33 — <0.06 <0.06 2.6 2.8 20 14 21 10
Ao% — <0.08 — 0.09 0.10 — <0.08 — — — 0.8
5% — 0.13 — 1.8 1.7 0.11 0.11 <0.05 <0.05 — 1.0
Bz E/ 7 — — <0.0002 — 0.0003 | <0.0002 — <0.0002 — — — 0.002
1,4-0" 134y — <0.005 — 0.022 0.057 — <0.005 — — — 0.05
JIL1|:7K§ - - - - - - - - - - -

- T<"DESX. EETRIERETHHAEFRLTLET,
(I Z (., 7<0.002” &, 0.002mg/LKi)
8. 9. EEHMRHNDIHTIK(b-5) ICEVNT—HICS >RZSIVIFSFRRENLRLI=CENS ., BHIBER A (B-4)D
HTRKIZCEITAREIBRICOWTH2RIEEDAEEZEREL. ARREICHEDHENEEHERLTHET,




RNILEE FER29FEKEE=2ITHRE1/3)

(B {31 :mg/L)

H29F EE 1[A]

B—1

B—2

B—3

B—4

b—5

S—2—1

S—2—-3

S—5

S—4

[—1

. . . . o IRIBE &
(4H11,14.21,288) f?ﬂjk if%ﬂ]k if%ﬂ]k if?%k iﬁ“‘j}( SBHOK | Ak | Bk | IR | SEIK
¥ hnniay — — - - — — — — — — 0.02
1,2-Y")an14y — — — — - - — — — — 0.004
1,2-")RAIFLY - - - - - — — — — — 0.04
Aty — - - - — — — — — — 0.01
fHER - BIEEMEER — 35 — 0.06 0.07 1.2 0.74 18 13 7.8 10
SoFK - <0.08 - 0.1 0.26 - 0.1 — — — 0.8
5% 15
- 0.14 - 1.2 2.6 0.08 0.05 <0.05 <0.05 - 1
1.1
JOnTFLY - <0.0002 - 0.0002 | <0.0002 - <0.0002 - - - 0.002
1,4-9" 134y 0.019
- <0.005 - 0.019 0.14 - <0.005 - - - 0.05
0.018
BRib/k*R — — — — — — — — — — —
(B mg/L)
H29F E 5 2[g] B—1 B—2 B—3 B—4 bE—5 S—2—1/S—2—3| S—5 S—4 =1 | mgae
(5A12.19.26H.6A21H) fgk fgk if%k if%ﬂyk ifT"jk BHK | ANk | @k FEUNAK | K
Y nnAay <0.002 <0.002 <0.002 <0.002 <0.002 <0.002 <0.002 <0.002 <0.002 — 0.02
1,2-")AA14Y <0.0004 = <0.0004 | <0.0004 & <0.0004 | <0.0004 | <0.0004 | <0.0004 | <0.0004 | <0.0004 — 0.004
1,2-Y"JARTFLY <0.004 | <0.004 @ <0.004 @ <0.004 | <0.004 <0.004 <0.004 <0.004 <0.004 — 0.04
Aty <0.001 <0.001 <0.001 0.001 0.001 <0.001 <0.001 <0.001 <0.001 — 0.01
TEER- BIEMMER <0.06 3.2 1.1 0.19 <0.06 1.3 2.0 19 12 8.2 10
ERE <0.08 <0.08 <0.08 <0.08 0.23 <0.08 <0.08 <0.08 <0.08 0.8
5% 1.1
<0.05 0.13 0.07 1.0 3.9 0.08 0.05 <0.05 <0.05 - 1
1.2
ZOO0IFLY <0.0002 = <0.0002 | <0.0002 | 0.0002 | <0.0002 | <0.0002 | <0.0002 | <0.0002 | <0.0002 0.002
1,4-9" 134y 0.024
<0.005 <0.005 <0.005 0.022 0.19 <0.005 <0.005 <0.005 <0.005 - 0.05
0.025
R e — <0.002 — — — — — <0.002 <0.002 — —
(BA{iL:mg/L)
H29F E 5 3[a B—1 B—2 B—3 B—4 bE—5 S—2—1/S—2—-3 S-5 S—4 =1 | mgawe
(6/29,16,21,28,30H) iﬂﬂ* iﬂﬂ* iﬂﬂ* ifgk ifTij sHk | ANk | Bk DK | SEIIK
VLT, — — — — — — — — — — 0.02
1,2-°)nR14y — — — — — — — — — — 0.004
1,2-%°9AA1FLY — — — — — — — — — — 0.04
AUty — — — — — — — — — — 0.01
THEL - BRIREAEE R - 3.2 - 0.09 <0.06 2.3 2.8 16 12 14 10
A% - <0.08 - 0.08 0.22 - 0.1 - - - 0.8
F5% 0.83
1.3
- 0.13 - 1.0 35 0.08 0.21 <0.05 <0.05 - 1
1.1
1.1
sOOTIFLY - <0.0002 - 0.0003 | <0.0002 - <0.0002 - - - 0.002
1,4-9"1%4%y 0.014
0.025
- <0.05 - 0.015 0.15 - <0.05 - - - 0.05
0.014
0.016
bk — — — — — — — — — — —
(B mg/L)
H29E E 4[] B—1 B—2 B—3 B—4 bE—5 S—2—1/S—2—-3| S—5 S—4 =1 | mmae
(1R7.142127H) if‘l‘%k if‘l‘%k if?%k if.F’ﬂ]k if.F"jk BHk | ANk | @k FEUIAK | AR
¥ J00Agy — - - - - - — — — — 0.02
1,2-Y"han14y — — — — — — — — — — 0.004
1,2-%"y001¥Ly — — - - - - — — — — 0.04
AUty — - - - - - — — — — 0.01
THER- BIEEMEER - 3.3 - 0.50 <0.06 0.87 2.3 15 12 6.4 10
SoFK - <0.08 - <0.08 0.26 - 0.13 - - - 0.8
F5% 0.84
- 0.14 - 0.75 5.2 0.08 0.25 <0.05 <0.05 - 1
0.67
0.71
JOATFLY - <0.0002 - <0.0002 | <0.0002 - <0.0002 - - - 0.002
1,4-5" 134y 0.008
- <0.05 - 0.007 0.27 - <0.05 - - - 0.05
0.008
0.007
Wbk E — — — — — — — — — — —

"<"DRESIF. EETRIERBETHLHIEERLTLEY,

(1 Z X, 7<0.002” %, 0,002mg/LK )




NILEE FER29FEKEE=S2)THE(2/3)

(B {31 :mg/L)

H29F E 5[

B—1

B—2

B—3

B—4

b—5

S—2—1

S—2—-3

S—5

S—4

[—1

. . . . o IRIEE%E
(8A489,18258) if%ﬂjk if%ﬂ]k if%ﬂjk if%ﬂ]k ifTij Bk | Ak | Bk | AR | A
Y nary <0.002 <0.002 <0.002 <0.002 <0.002 <0.002 <0.002 <0.002 <0.002 — 0.02
1,2-Y")an14y <0.0004 | <0.0004 | <0.0004 & <0.0004 @ <0.0004 | <0.0004 | <0.0004 | <0.0004 | <0.0004 — 0.004
1,2-%°9AR1FLy <0.004 | <0.004 | <0.004 | <0.004 | <0.004 <0.004 <0.004 <0.004 <0.004 — 0.04
Aty <0.001 <0.001 <0.001 <0.001 0.001 <0.001 <0.001 <0.001 <0.001 — 0.01
fHER - BIEEMEER 0.13 3.4 1.4 0.52 <0.06 1.7 1.8 19 9.2 5.2 10
A% <0.08 <0.08 <0.08 <0.08 0.28 0.10 0.10 <0.08 0.10 - 0.8
5% 0.60
<0.05 0.12 <0.05 g'ii 5.8 0.06 0.07 <0.05 <0.05 - 1
0.66
JanTFLY <0.0002 | <0.0002 | <0.0002 | <0.0002 | <0.0002 | <0.0002 | <0.0002 | <0.0002 | <0.0002 - 0.002
1,4-9" 134y 0.006
<0.05 <0.05 <0.05 0.007 0.24 <0.05 <0.05 <0.05 <0.05 - 0.05
0.006
0.010
BRib/k*R — <0.002 — — — — — <0.002 <0.002 — —
(B {1 :mg/L)
H294E FE £ 6 B—1 B—2 B—3 B—4 b—5 |S—2—1|S—2—-3| S-5 S—4 I—1 e
(OA181522288) | HA | BD | B BD L BP D mmk | omnk | omko |k |k | REEE
Y hanr4ay — — — - - - - — — — 0.02
1,2-")AA14Y — — — - - - - — — — 0.004
1,2-Y"AR1FLY — - - - — — — — — — 0.04
ANutY — - - - - - — — — — 0.01
THER- BIEMMER - 35 - 0.49 <0.06 1.4 2.9 18 13 5.6 10
S0o% - <0.08 - <0.08 0.25 - 0.14 - - - 0.8
F5% 0.57
0.66
- 0.12 - 0.59 3.1 0.07 0.06 <0.05 <0.05 - 1
0.62
0.66
JOO0IFLY - <0.0002 - <0.0002 | 0.0002 - <0.0002 - - - 0.002
1,4-9" 134y 0.007
0.011
- <0.05 - 0.006 0.19 - <0.05 - - - 0.05
0.009
0.008
Wik E — — — — — — — — — — —
(BAfL:mg/L)
H294F EE 7 [0 B—1 B—2 B—3 B—4 b—5 |S—2—1/S8S—2—3| S-—5 S—4 1—1 _
(10R61s20268) | @A | BA | EA | ED | 8K mk | ik | @k | oAk |k | RREE
Y InArY — — — — — — — — — — 0.02
1,2-Y/0014Y — — — — — — — — — — 0.004
1,2-%")0n1FLy — — - - - - — — — — 0.04
NV ) — — — — — — — — — — 0.01
THEL - BRAIREAEE R - 3.1 = 0.4 0.12 1.5 25 13 3.0 6.0 10
ek - <0.08 - <0.08 0.45 - 0.15 - - - 0.8
5% 0.52
- 0.10 - 0.73 3.4 0.06 <0.05 <0.05 <0.05 - 1
0.71
0.70
~OOIFLY - <0.0002 - <0.0002 | 0.0002 - <0.0002 - - - 0.002
1,4-9"1 %4y 0.008
- <0.05 - 0.007 0.20 - <0.05 - - - 0.05
0.008
0.006
WibkE — — — — — — — — — — —
(BB mg/L)
H29F E 5 8[a] B—1 B—2 B—3 B—4 b—5 |S—2—1/S—2—-3 S—-5 S—4 I—1 _ :
(1172.10.248) f%ﬂ]k f%ﬂ]k if%k if%ﬂyk fgjk Buok | mk | Bk | Nk | Nk | RREE
¥ nniay <0.002 <0.002 <0.002 <0.002 <0.002 <0.002 — <0.002 <0.002 — 0.02
1,2-Y"9A014y <0.0004 | <0.0004 | <0.0004 | <0.0004 | <0.0004 | <0.0004 — <0.0004 = <0.0004 — 0.004
1,2-Y"YAAIFLY <0.004 | <0.004 & <0.004 = <0.004 | <0.004 <0.004 — <0.004 <0.004 — 0.04
Aty <0.001 <0.001 <0.001 <0.001 0.001 <0.001 — <0.001 <0.001 — 0.01
TEER- BIEMMER <0.06 2.9 3.2 0.34 <0.06 3.2 3.0 15 10 5.3 10
ERE <0.08 <0.08 <0.08 <0.08 0.29 0.08 0.08 <0.08 <0.08 - 0.8
F5% 0.80
<0.05 0.24 <0.05 0.67 3.2 <0.05 <0.05 <0.05 <0.05 - 1
0.87
JOO0IFLY <0.0002 | <0.0002 | <0.0002 | <0.0002 | <0.0002 | <0.0002 | <0.0002 | <0.0002 | <0.0002 - 0.002
1,4-5" 134y 0.008
<0.05 <0.05 <0.05 0.008 0.1 <0.05 <0.05 <0.05 <0.05 - 0.05
0.010
Biibk® — <0.002 — — — — — <0.002 <0.002 — —

"<"DEBIX. EETRERBETHHIELZRLTLET,
(A (X, 7<0.002” (£, 0.002mg/ L& #)




RNILEE FER29FEKEE=S2)THE(3/3)

(B {31 :mg/L)

H294F E 5 9[a] B—1 B—2 B—3 B—4 b—5 |S—2—1|S—2—-3| S-—5 S—4 =1 |
(12719.258) o BR B2 PR R mek | ik | mk | Ak |k | RREE
& nnray — - - - — — — — — — 0.02
1,2-Y")an14y — — — — - - — — — — 0.004
1,2-")RAIFLY - - - - - — — — — — 0.04
Aty — - - - — — — — — — 0.01
fHER - BIEEMEER - 2.9 - 0.19 <0.06 43 3.8 15 13 6.3 10
SoF - <0.08 - <0.08 0.26 - 0.08 - - - 0.8
F5% - 0.27 - 1.0 3.1 <0.05 <0.05 <0.05 <0.05 - 1.0
~OO0IFLY - <0.0002 - <0.0002 | 0.0002 - <0.0002 - - - 0.002
1,4-Y" 144y - <0.05 - 0.009 0.15 - <0.05 - - - 0.05
WibkE — — — — — — — — — — —
(B mg/L)
H29&E E %10 B—1 B—2 B—3 B—4 b—5 |S—2—1/S—2—-3 S—-5 S—4 I—1 _ :
(1R12.178) fgk fgk if%k if%ﬂyk fgjk Buok | mk | Bk | ANk | Nk | RREE
Y honray — — — — - - — — — — 0.02
1,2-Y"9A014y — — — — - - — — — — 0.004
1,2-Y"YAAIFLY — - — — - - — — — — 0.04
ANty — - - — - — - — — — 0.01
TEER- BIEMMER - 2.9 - 0.22 <0.06 35 2.7 17 11 7.4 10
A% - <0.08 - <0.08 0.28 - <0.08 - - - 0.8
5% - 0.15 - 1.2 3.8 <0.05 <0.05 <0.05 <0.05 - 1.0
JOATFLY - <0.0002 - <0.0002 | 0.0002 - <0.0002 - - - 0.002
1,4-Y' %%y - <0.05 - 0.011 0.19 - <0.05 - - - 0.05
Wbk E — — — — — — — — — — —
(BA{sL:mg/L)
H29EEE 11 B—1 B—2 B—3 B—4 b—5 |S—2—1|8S—2—3| S-5 S—4 =1 |
R9RIAIR) | B mA o BE | BE L SE | mmk | mnk | omko | mnk | mnk | REEE
& nniay <0.002 | <0.002 | <0.002 | <0.002 | <0.002 <0.002 — <0.002 <0.002 — 0.02
1,2-9"/A014y <0.0004 | <0.0004 | <0.0004 | <0.0004 | <0.0004 | <0.0004 — <0.0004 | <0.0004 — 0.004
1,2-Y°9AR1FLY <0.004 | <0.004 | <0.004 | <0.004 | <0.004 <0.004 — <0.004 <0.004 — 0.04
NV ) <0.001 <0.001 <0.001 <0.001 0.001 <0.001 — <0.001 <0.001 — 0.01
TEER- BIEEMER 0.07 3.0 2.9 0.32 <0.06 35 2.0 19 9.1 9.1 10
Ao%E <0.08 <0.08 <0.08 <0.08 <0.08 <0.08 <0.08 <0.08 <0.08 - 0.8
F5% <0.05 0.15 <0.05 1.0 2.8 <0.05 <0.05 <0.05 <0.05 - 1.0
JOO0IFLY <0.0002 | <0.0002 | <0.0002 | <0.0002 | 0.0002 | <0.0002 | <0.0002 | <0.0002 | <0.0002 - 0.002
1,4-Y" %4y <0.05 <0.05 <0.05 0.015 0.090 <0.05 <0.05 <0.05 <0.05 - 0.05
Wik — <0.002 — — — — — <0.002 <0.002 — —
(BAfL:mg/L)
H29E E 512 B—1 B—2 B—3 B—4 b—5 |S—2—1/8S—2—3| S-—5 S—4 =1 |
(3A5.98) R R el B el BRI 1 S TTE S 2 S T S TS RERE
$ 004y — — — — — — — — — — 0.02
1,2-"4AA14y — — — - — - — — — — 0.004
1,2-"9)RAIFLY — - — - — - — — — — 0.04
NV ) — — — — — — — — — — 0.01
THER - BAEEEER - 2.6 - 0.62 <0.06 1.4 2.2 13 7.3 3.8 10
SoFK - <0.08 - <0.08 0.13 - <0.08 - - - 0.8
F5% - 0.12 - 0.60 1.2 <0.05 <0.05 <0.05 <0.05 - 1.0
sOOIFLY - <0.0002 - <0.0002 | 0.0002 - <0.0002 - - - 0.002
1,4-Y" 144y - <0.05 - 0.009 0.057 - <0.05 - - - 0.05
bk E — — — — — — — — — — —

"<"DEEEIE. EETREXRBTHAHIEERLTULET,
(1 Zz £, ”<0.002” (%, 0.002mg/Lk i)




NILEE FHI0FEKEE=2IJHEERE1/3)

(BT :mg/L)
HI0OFEEFE 1[E El—“l E’;:Z E’;:3 B;:4 b—5 S—2—1/8—2—-3 S-5 S—4 =1 | imgpe
“RIZISISE) | AR B2 AR R e ok ANk BA | ENK | SNIK
¥ hnnrgey — — — — — — — — — — 0.02
1,2-9°/AA14Y - — — — — — — — — — 0.004
1,2-"9AAIFLY — - — — - — — — - - 0.04
WAV, — — — — — — - - — — 0.01
THEL - HAHER MR R — — — - — 15 1.0 17 3.3 6.5 10
SoF — - — — <0.08 - <0.08 - — — 0.8
F5% - - - 0.38 0.15 <0.05 <0.05 — — - 1
sOoaTFLy - — - - - - <0.0002 - - - 0.002
1.4-V 134y - - - - <0.005 - <0.005 - - - 0.05
Bk k& — — — — — — — — — — —
(BASI:mg/L)
H30FE 2 E:1 E:;Z B;S B;4 bE—5 S—2—1/S—2—-3 S-5 S—4 =1 | mgp
(5A15238) i f?%k i ET%K if%}( ifgk ifTij B | AENDK Bk AR | EIK
Y honray <0.002 | <0.002 | <0.002 @ <0.002 | <0.002 | <0.002 | <0.002 | <0.002 | <0.002 — 0.02
1,2-°9n014y <0.0004 | <0.0004 | <0.0004 | <0.0004 @ <0.0004 @ <0.0004 <0.0004 @ <0.0004 <0.0004 — 0.004
1,2-Y"9AAIFLY <0.004 | <0.004 | <0.004 = <0.004 & <0.004 | <0.004 | <0.004  <0.004 | <0.004 — 0.04
AUty <0.001 | <0.001 | <0.001 | <0.001 <0.001 <0.001 <0.001 <0.001 <0.001 — 0.01
THEL - B ER <0.06 2.8 0.77 0.44 1.3 0.82 1.9 15 9.5 12 10
AoFE <0.08 <0.08 <0.08 <0.08 <0.08 <0.08 <0.08 <0.08 <0.08 - 0.8
5% <0.05 0.13 <0.05 0.40 0.16 <0.05 <0.05 <0.05 <0.05 - 1
saAIFLY <0.0002 | <0.0002 | <0.0002 | <0.0002 | <0.0002 & <0.0002 | <0.0002 | <0.0002 @ <0.0002 0.002
1.4-V 134y <0.005 | <0.005 | <0.005 0.005 0.008 <0.005 | <0.005 | <0.005 | <0.005 - 0.05
Bibk= — <0.002 — — — — — <0.002 | <0.002 — —
(BifE:mg/L)
H30FE S 3[E B—1 B—2 B—3 B—4 b—5 [§—2—1 S—2—-3| S-5 S—4 =1 | jmgpn
(6A16H) | an o B ED e mHk ANk Bk ANk K
¥ Hnniay — — — — — — — — — — 0.02
1,2-"hanI4y — — — — — — — — — — 0.004
1,2-Y"YAAIFLY — — — — — — — — — — 0.04
AUty - - - - - - - - - — 0.01
FHEL - EEHEMEER - - - - - 1.5 0.96 13 - - 10
So%K - - - - <0.08 - <0.08 - — — 0.8
[F5% - — — 0.38 0.18 <0.05 0.06 — - — 1
soAIFLY - — — — — — <0.0002 — — — 0.002
1,4-Y 454y - - - - <0.005 - - - - — 0.05
Bk k& — — — — — — — — — — —
(BASI:mg/L)
H30FE E4E] E:;1 thjz B;S B;4 bE—5 S—2—1/S—2—-3| S—5 S—4 =1 |imp g
(7R6,138) | m AR D e RHK Ak Bk AR A
Y hanrey — — — — — — — — - - 0.02
1,2-Y")aaI4y — — — — - - — — — — 0.004
1,2-"JAAIFLY - - — — — — - - - - 0.04
AUty — — — — — — — — - — 0.01
THEL - EHERMEER - — — — — 1.7 0.75 14 9.5 4.7 10
SoF% - - - - <0.08 - <0.08 - - - 0.8
F5% - - - 0.81 0.11 <0.05 0.05 - - - 1
sOQIFLY - - - - - - <0.0002 - - - 0.002
1.4- 134y - - - - <0.005 - <0.005 - - - 0.05
bk & — — — — — — — — — — —

"<"DEBIX. EETRERBETHAIEEZRLTLVET,
(Bl Z X, ”<0.002” (%, 0,002mg/LK )




RNILEEX FHI0FEEKBEE=RIVTHE(2/3)

(BI:mg/L)

H30FEEFESE B—1 B—2 B—3 B—4 bE—5 S—2—1/8—2—-3] S-5 S—4 =1 | imgpe
(8R3248) | R AR D e Rk ANk Bk ANk K
VW PTY, <0002 | <0.002 | <0.002 @ <0.002 & <0002 | <0.002 | <0002 & <0002 | <0.002 — 0.02
1,2-Y")aAT4Y <0.0004 | <0.0004 | <0.0004 <0.0004 A <0.0004 | <0.0004 <0.0004 <0.0004 | <0.0004 — 0.004
1,2-"9AAIFLY <0.004 | <0.004 | <0.004 = <0.004 & <0.004 | <0.004 | <0.004 & <0.004 | <0.004 — 0.04
AUty <0.001 | <0.001 | <0.001  <0.001 0.001 <0.001 <0.001 <0.001 <0.001 — 0.01
THER - BAHEMEER 0.13 2.7 3.7 0.68 1.3 2.8 2.8 14 10 5.4 10
A% <0.08 <0.08 <0.08 <0.08 <0.08 <0.08 0.08 <0.08 0.08 - 0.8
5% <0.05 0.16 <0.05 0.73 0.09 <0.05 0.09 <0.05 <0.05 - 1
sORIFLY <0.0002 | <0.0002 | <0.0002 @ <0.0002 & <0.0002 @ <0.0002 | <0.0002 = <0.0002 & <0.0002 - 0.002
1.4-V 134y <0.005 | <0.005 | <0.005 0.013 <0.005 | <0.005 | <0005 | <0.005 | <0.005 - 0.05
Bk k& — <0.002 — — — — — <0.002 | <0.002 — —
(B :mg/
H30EEF6E B—1 B—2 B—3 B—4 b—5 |[S—2—1/8—2—3 S-—5 S—4 =1
(OR78) | e AR T T RHK K Bk AN I RERE
¥ hanrey — — — — - — — — - - 0.02
1,2-°9n014y — — — — — — — — — — 0.004
1,2=")OaIFLY - — — — — — — — — — 0.04
AUty — — — — — — — — — — 0.01
THEL - B ER - — — — — 2.4 2.3 15 10 4.9 10
AoFE - — — - <0.08 - <0.08 — — — 0.8
F5% - - - 1.1 0.22 <0.05 0.06 — — — 1
sOoaTFLy - — — - - - <0.0002 — — — 0.002
1.4-Y 134y - - - - <0.005 - <0.005 — — — 0.05
ik k& — — — — — — — — — — —
(B :mg/
HI0FEEFE7[E B—1 B—2 B—3 B—4 b—5 |S—2—1/8S—2—-3 S-—5 S—4 =1
(1075238) oL BD B2 BL B sk mik @k mak |k | RREE
¥ Hnniay — — — — — — — — — — 0.02
1,2-Y'90014Y — — — — — — — — — — 0.004
1,2-Y"YAAIFLY — — — — — — — — — — 0.04
AUty - - - - - - - - - — 0.01
THEL - BRHERMEZE R - — — — — 3.0 3.0 15 6.4 4.9 10
So%K - - - - <0.08 - <0.08 - — — 0.8
[F5% - - - 0.84 0.11 <0.05 0.07 — — — 1
saaIFLY - — — - - - <0.0002 — — — 0.002
1,4-Y 454y - - - - <0.005 - <0.005 - - — 0.05
Bk k& — — — — — — — — — — —
(B :mg/
H30F E ZE 8[E] B—1 B—2 B—3 B—4 b—5 |S—2—1/S—2—3 S-5 S—4 =1 | ]
(11R228.29H) | m AR D e RHK Ak Bk AR A REEE
Y honray <0.002 | <0.002 | <0.002 = <0.002 & <0.002 | <0.002 - <0.002 | <0.002 — 0.02
1,2-Y°9AA14Y <0.0004 | <0.0004 | <0.0004 = <0.0004 A <0.0004 | <0.0004 - <0.0004 = <0.0004 — 0.004
1,2-"JAAIFLY <0.004 | <0.004 | <0.004 & <0.004 | <0.004 | <0.004 - <0.004 | <0.004 — 0.04
AUty <0.001 | <0.001 | <0.001 = <0.001 0.001 <0.001 - <0.001 <0.001 — 0.01
THEL - EHERMEER 0.08 2.3 0.23 0.4 1.1 6.4 6.3 14 4.2 5.9 10
Aok <0.08 <0.08 <0.08 <0.08 <0.08 <0.08 0.08 <0.08 0.17 - 0.8
5% <0.05 0.12 <0.05 0.82 0.09 <0.05 <0.05 <0.05 <0.05 - 1
sOQIFLY <0.0002 | <0.0002 | <0.0002 & <0.0002 & <0.0002 & <0.0002 | <0.0002 & <0.0002 & <0.0002 - 0.002
1.4-V 134y <0.005 | <0.005 | <0.005 0.012 0.007 <0.005 | <0.005 | <0.005 | <0.005 - 0.05
HibKk% — <0.002 - - — - - <0.002 <0.002 — —

"<"DEBIX. EETRIEXRBETHLHIIELERLTLET,
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AUEE FHI0FEEKEE=FUTHER(3/3)
(B{5L:mg/L)

H30F E 5 9[A B—1 B—2 B—3 B—4 b—5 ' S§—2—1/S—2—-3 S-5 §—4 | I=-1 |
(12717.188) L BD o B2 BL BN mmk | mik @k mak |k | RREE
Y HnnraY — — — — — — — — — — 0.02
1,2-Y")aAT4Y - - - - - — — — — — 0.004
1,2-"9AAIFLY — - — - - — — — - - 0.04
WAV, — — — — — — - - — — 0.01
THER - BAHEMEER - — — — — 55 43 15 3.6 6.7 10
SoF - - — - <0.08 - <0.08 - — — 0.8
F5% - - - 1.1 0.1 <0.05 <0.05 - — — 1.0
sOoaTFLy - — — - - - <0.0002 — — — 0.002
1.4~V %4y - — — - <0.005 - <0.005 — — — 0.05
BibkE — — — — — — — — — — —
(BASI:mg/L)
H30&EE 2 10[H] B—1 B—2 B—3 B—4 b—5 |S—2—1[/8S—2—3 S-—5 S—4 =1 | :
(1R18E) | e AR T T RHK K Bk AN I RREER
¥ hanrey — — — - - — — — - - 0.02
1,2-°9n014y — — — — — — — — — — 0.004
1,2=")OaIFLY - — — — — — — — — — 0.04
AUty - - - - — — — — — — 0.01
THEL - B ER - — — — — 5.2 5.1 17 41 8.8 10
Ao% - — — - <0.08 - <0.08 — — — 0.8
F5% - - - 1.3 0.17 <0.05 <0.05 - — — 1.0
sOoaTFLy - — — - - - <0.0002 — — — 0.002
1.4-Y 134y - - - - 0.006 - <0.005 — — — 0.05
Bibk= — — — — — — — — — — —
(BifE:mg/L)
HI0EEE 116 B—1 B—2 B—3 B—4 b—5 |S—2—1/S—2—3 S-5 S—4 =1 | :
(2A1198) oL BD B2 BL B sk mik @k mak |k | RREE
Y Hnniey <0.002 | <0.002 | <0.002 @ <0.002 | <0002 | <0.002 - <0.002 | <0.002 — 0.02
1,2-°9A014y <0.0004 | <0.0004 | <0.0004 & <0.0004 | <0.0004 | <0.0004 - <0.0004 | <0.0004 — 0.004
1,2-"JAAIFLY <0.004 | <0.004 | <0.004 | <0.004 | <0.004 & <0.004 - <0.004 | <0.004 — 0.04
AUty <0.001 <0.001 <0.001 <0.001 0.001 <0.001 - <0.001 <0.001 — 0.01
THEL - EIHE M E R <0.06 2.4 2.8 0.3 1.1 43 34 17 9.9 7.1 10
A0o% <0.08 <0.08 <0.08 <0.08 <0.08 <0.08 0.11 <0.08 <0.08 - 0.8
5% <0.05 0.13 <0.05 1.1 0.41 <0.05 <0.05 <0.05 <0.05 - 1.0
soaIFLy <0.0002 | <0.0002 | <0.0002 & <0.0002 & <0.0002 & <0.0002 @ <0.0002 & <0.0002 & <0.0002 - 0.002
1.4~ 734y <0.005 | <0.005 | <0.005 0.010 0.012 <0.005 | <0.005 | <0.005 & <0.005 - 0.05
Bk k& — <0.002 — — — — — <0.002 | <0.002 — —
(BASI:mg/L)
H30EE % 12[H] B—1 B—2 B—3 B—4 b—5 |S—2—1/S—2—-3 S-5 S—4 =1 | ]
(BR4E) L BD B BL R mmk | mik @k mak |k | RREE
Y hanrey — — — — — — — — - - 0.02
1,2-Y")aaI4y — — — - - - — — — — 0.004
1,2-"JAAIFLY - - — — — - - - - - 0.04
AUty — — — — — — — — - — 0.01
THEL - EHERMEER - — — — — 1.1 1.2 12 5.6 2.4 10
SoF% - — - - <0.08 - <0.08 - — — 0.8
F5% - — — 0.64 0.36 <0.05 <0.05 — — — 1.0
sOooIFLy - — — — — — <0.0002 — — — 0.002
1.4- 134y - - - - 0.009 - <0.005 - — — 0.05
Bibk= — — — — — — — — — — —
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AILEE FERSIEKEE=AYT R

(BI:mg/L)

HI1EEE 1A B—1 B—2 B—3 B—4 b—5 [§-2-1/8-2-3 8§-5 S—4 =1 mpase
(4R15R) | R AR D e Rk ANk Bk ANk K
VW PTY, — — — — — — — — — — 0.02
1,2-Y'90014Y — — — — — — — — — — 0.004
1,2-"yanIFLy - - - - - - - - - - 0.04
A - - - - - - - - - - 0.01
THER - BRHERMEZE R — — — — — 0.84 1.0 17 11 7.2 10
So%k - - - - <0.08 — <0.08 - - - 0.8
[F5% - - - 0.32 0.35 <0.05 <0.05 — — - 1
yonTIFLy - - - - - - <0.0002 - - - 0.002
1.4-V 134y - - - - 0.012 - <0.005 - - - 0.05
BibkE — — — — — — — — — — —
(B :mg/
RIEEFE2E B;1 B;Z B;3 B;4 b—5 [§-2-1/8-2-3 §-5 S—4 =1 s
(5H10,21,298) i f‘F%K i f?%k i f?%k ifgk ifTij Bk Ak | Bk EIDK | AR
VW PTY, <0.002 | <0.002 | <0.002 & <0.002 | <0002 & <0.002 | <0002 & <0002 | <0.002 — 0.02
1,2-"9AAz4y <0.0004 | <0.0004 | <0.0004 | <0.0004 | <0.0004 <0.0004 & <0.0004 & <0.0004 <0.0004 — 0.004
1,2-Y"9AAIFLY <0.004 | <0.004 | <0.004 = <0.004 & <0.004 & <0.004 & <0.004 = <0.004  <0.004 — 0.04
AVtY <0.001 | <0001 | <0.001 | <0.001 <0.001 <0.001 <0.001 <0.001 <0.001 — 0.01
THEL - B ER 0.06 2.5 0.42 0.37 1.2 0.14 1.1 17 12 10 10
AoFE <0.08 <0.08 <0.08 <0.08 <0.08 <0.08 <0.08 <0.08 <0.08 - 0.8
5% <0.05 0.14 <0.05 0.46 0.20 <0.05 0.06 <0.05 <0.05 - 1
saAIFLY <0.0002 | <0.0002 | <0.0002 @ <0.0002 & <0.0002 & <0.0002 | <0.0002 & <0.0002 A <0.0002 0.002
1.4-V 134y <0.005 | <0.005 | <0.005 @ <0.005 0.011 <0.005 | <0.005 | <0.005 | <0.005 - 0.05
Bibk= — <0.002 — — — — — <0.002 | <0.002 — —
(B :mg/
RIEEZE3[E B—1 B—2 B—3 B—4 b—5 [§-2-1/8-2-3 §-5 S—4 =1 | jmgpn
(6R7.118) | an o B ED e mHk ANk Bk ANk K
Y Hnniey — — — — - - — — — — 0.02
1,2-Y"9AAT4Y - - — — — — — - - - 0.004
1,2-"JAAIFLY — — — — — — — — — — 0.04
WAV, — — — — — — - - - — 0.01
THEL - EIHE M E R — — — — — 0.63 3.1 14 10 45 10
So%K - - - - <0.08 - <0.08 - — — 0.8
[F5% - - - 0.77 0.18 <0.05 <0.05 — — - 1
saaIFLY - — - - - - <0.0002 - - - 0.002
14-' 434y - - - - <0.005 - <0.005 - - - 0.05
Bk k& — — — — — — — — — — —
(B :mg/
RIFEEFE4E E:;1 thjz B;S B;4 bE—5 S—2—1/S—2—-3| S—5 S—4 =1 |imp g
(TR5H) | m AR D e RHK Ak Bk AR A
VW PTY, <0.002 | <0.002 | <0.002 = <0.002 & <0.002 | <0.002 — <0.002 — — 0.02
1,2-Y°9AA14Y <0.0004 | <0.0004 | <0.0004 = <0.0004 A <0.0004 | <0.0004 — <0.0004 — — 0.004
1,2-"JAAIFLY <0.004 | <0.004 | <0.004 & <0.004 | <0.004 | <0.004 — <0.004 — — 0.04
AUty <0.001 | <0.001 | <0.001 = <0.001 <0.001 <0.001 — <0.001 — — 0.01
THEL - EHERMEER 0.09 1.9 0.76 0.41 1.1 0.49 0.66 13 9.6 5.3 10
A% <0.08 <0.08 <0.08 <0.08 <0.08 <0.08 <0.08 <0.08 — - 0.8
5% <0.05 0.10 <0.05 0.50 0.13 <0.05 0.07 <0.05 — - 1
sOQIFLY <0.0002 | <0.0002 | <0.0002 & <0.0002 & <0.0002 & <0.0002 | <0.0002 @ <0.0002 — — 0.002
14-"1%4Y <0.005 | <0.005 | <0.005 @ <0.005 | <0.005 & <0.005 | <0.005 | <0.005 — — 0.05
bk Z*R — <0.002 — — — — — <0.002 — — —
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NIUEE FHAS1FEKEE=SIVTHE

(BI:mg/L)

RIEEZESE El—“l E’;:Z E’;:3 B;:4 b—5 S—2—1/8—2—-3 S-5 S—4 =1 | imgpe
(8R216208) | R AR D e Rk ANk Bk ANk K
Y honray — — — — — — <0.002 — <0.002 — 0.02
1,2-Y")aAT4Y — — — — — — <0.0004 — <0.0004 — 0.004
1,2-"9AAIFLY — — — — — — <0.004 - <0.004 — 0.04
WAV, — — — — - - <0.001 — <0.001 — 0.01
THER - BAHEMEER — — - — — 15 2.0 16 15 4.4 10
SoF — - - - <0.08 - 0.08 - <0.08 — 0.8
F5% - - - 0.30 0.12 <0.05 0.13 — <0.05 - 1
sOoaTFLy - — - - - - <0.0002 - <0.0002 - 0.002
1.4-V 134y - - - - <0.005 - <0.005 - <0.005 - 0.05
Bk k& — — — — — — — — <0.002 — —
(BASI:mg/L)
RIEEFE6E B—1 B—2 B—3 B—4 b—5 |[S—2—1/8—2—3 S-—5 S—4 =1
(9R6.98) | e AR T T RHK K Bk AN I RREER
Y Ay <0.002 | <0.002 | <0.002 & <0.002 | <0002 | <0.002 — <0.002 — — 0.02
1,2-°9n014y <0.0004 | <0.0004 | <0.0004 & <0.0004 | <0.0004 | <0.0004 — <0.0004 — — 0.004
1,2-Y"9AAIFLY <0.004 | <0.004 | <0.004 = <0.004 & <0.004 | <0.004 — <0.004 — — 0.04
AUty <0.001 0.007 <0.001 | <0.001 <0.001 <0.001 — <0.001 — — 0.01
THEL - B ER 1.0 1.8 2.1 0.62 0.48 0.09 1.1 10 9.8 6.0 10
AoFE <0.08 0.47 <0.08 <0.08 <0.08 <0.08 <0.08 <0.08 — - 0.8
5% <0.05 2.6 <0.05 0.10 0.14 <0.05 0.12 <0.05 — - 1
saAIFLY <0.0002 | 0.0002 | <0.0002 | <0.0002 | <0.0002 & <0.0002 | <0.0002 | <0.0002 — 0.002
1.4-V 134y <0.005 0.030 <0.005 | <0.005 | <0005 | <0.005 | <0.005 | <0.005 — - 0.05
Bibk= — <0.002 — — — — — <0.002 — — —
(BifE:mg/L)
RIEEZE7E B—1 B—2 B—3 B—4 b—5 |S—2—1/8S—2—-3 S-—5 S—4 =1 |
(oR220208) | AA | BB | AL B 8B mmk ik gk mik | mpk | REEE
¥ Hnniay — — — — — — — — — — 0.02
1,2-"hanI4y — — — — — — — — — — 0.004
1,2-Y"YAAIFLY — — — — — — — — — — 0.04
AUty - <0.001 - - — - - - - — 0.01
THEL - BRHERMEZE R - — — — — 1.4 1.3 12 8.9 4.6 10
A%k - <0.08 — - <0.08 - <0.08 — — — 0.8
[F5% - 0.53 — 0.39 0.11 <0.05 0.06 — — — 1
soAIFLY - — — - - - <0.0002 — — — 0.002
1.4-V 134y - 0.008 — - <0.005 - <0.005 — — — 0.05
Bk k& — — — — — — — — — — —
(BASI:mg/L)
RIEEFESHE B—1 B—2 B—3 B—4 b—5 |S—2—1/S—2—3 S-5 S—4 =1 | ]
(1R22218) L BD B BL R mmk | mik @k mak |k | RREE
Y HOAAaY — — — — — — — — <0.002 — 0.02
1,2-Y")aaI4y — — — — — — — — <0.0004 — 0.004
1,2-Y°9AAIFLY — — — — — — — — <0.004 — 0.04
WYV, — 0.004 — — — — — — <0.001 — 0.01
THEL - BHEMEER — — - — — 3.8 3.9 13 10 5.0 10
Ao%F — 0.40 — — <0.08 — <0.08 — <0.08 — 0.8
F5% - 3.0 - 0.36 0.11 <0.05 <0.05 — <0.05 - 1
sOAIFLY - — - - - - <0.0002 - <0.0002 - 0.002
1.4-V 134y - 0.034 - - <0.005 - <0.005 - <0.005 - 0.05
BibkE — — — — — — — — <0.002 — —
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NIIEE FHAS1FEKEE=SIVTHE

(BI:mg/L)

RIEEEOM B—1 B—2 B—3 B—4 b—5 |S—2—1/S—2—3 S—5 S—4 I—1 -
(12H813,18,24R) &8 &8 &8 &8 =10 = : > : : RIGEAE
Mok | Tk | Tk | #Ek | HEK 2K EIK BEK AIK | Ak
Y honrgy <0.002 | <0.002 | <0.002 | <0.002 <0.002 <0.002 — <0.002 — — 0.02
1,2-¥")An14y <0.0004 | <0.0004 | <0.0004 | <0.0004 | <0.0004 | <0.0004 — <0.0004 — — 0.004
1,2-Y)AA1FLY <0.004 | <0.004 | <0.004 '@ <0.004 <0.004 <0.004 — <0.004 — — 0.04
AVt <0.001 0.001 <0.001 <0.001 <0.001 <0.001 — <0.001 — — 0.01
THEE - BIEEMER <0.06 1.3 1.7 0.21 1.1 4.4 3.8 14 12 6.7 10
AoF <0.08 0.26 <0.08 <0.08 <0.08 <0.08 <0.08 <0.08 — - 0.8
F5% <0.05 } g <0.05 0.47 0.09 <0.05 <0.05 <0.05 — - 1.0
~OOIFLY <0.0002 | 0.0002 | <0.0002 | <0.0002 | <0.0002 | <0.0002 | <0.0002 @ <0.0002 — 0.002
1,4-V" 134y <0.005 0.025 <0.005 0.008 <0.005 <0.005 <0.005 <0.005 — - 0.05
BibKkE — <0.002 — — — — — <0.002 — — —
(B mg/
RIFEEZE10E B—1 B—2 B—3 B—4 b—5 |S—2—1/8—2—3| S—5 S—4 I—1 .
(1H8,10H) &8 &8 JE5pul IE5pul 5N = . R . . RIFE
Mok | Mk | HTk | Tk | HROK =HK L AEIK BIK AIK | Ak
Y hOnr4ay — — — — — — — — — — 0.02
1,2-"40A14Yy — — — — — — — — — — 0.004
1,2-Y)AAIFLY — — — — - — — — — — 0.04
AVt — 0.001 — — — — — — — — 0.01
THEL-FHMMESR - - — — — 3.1 1.7 14 11 6.5 10
SoFR - 0.24 — - <0.08 - <0.08 — — — 0.8
F5% - 1.7 — 0.68 0.07 <0.05 <0.05 - — — 1.0
yOoOIFLY - — — - - - <0.0002 — — — 0.002
1,4-V" 154y - 0.023 — - 0.006 - <0.005 — — — 0.05
BibKkE — — — — — — — — — — —
(B :mg/
RIFEEFE11[H B—1 B—2 B—3 B—4 b—5 |S—2—1/S—2—3| S—5 S—4 I—1 .
(2B7.148) &8 &8 &8 &8 =10 = . R . . RIEE?
Y honr4ay — — — — — — — — <0.002 — 0.02
1,2-"40014Y — — — — — — — — <0.0004 — 0.004
1,2-Y )AAIFLY — — — — — — — — <0.004 — 0.04
W — <0.001 — — — — — — <0.001 — 0.01
THEL - AR IE R R - — — — — 3.0 2.5 15 12 9.3 10
AoF - 0.18 — - <0.08 - <0.08 — <0.08 — 0.8
T5%F - 1.1 — 0.99 0.37 <0.05 <0.05 - <0.05 — 1.0
yooIFLy - — — - - - <0.0002 — <0.0002 — 0.002
1,4-V" 134 - 0.013 — - 0.020 - <0.005 — <0.005 — 0.05
RibKE — — — — — — — — <0.002 — —
(BAfLmg/
RIFEEFE12E B—1 B—2 B—3 B—4 b—5 |S—2—1/S—2—3| S—5 S—4 I—1 .
(3A3H) |E5pul |E5pul ISRl &8 =1 = : s . . RIGEAE
Mok | Tk | Tk | #EK | HEOK Bk Ak BK AIK | Ak
Y hnni4y — 0.02
1,2-Y")AA14Yy — 0.004
1,2-"9A01FLY — 0.04
Aty <0.001 0.01
HEE-BIEEMMER — 10
SoF 0.13 0.8
Z5% 0.96 1.0
~OO0TFLY — 0.002
1,4-V" 134 0.010 0.05
BibkE — —
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NUEE ER225EKEE=SIVITHRER(EER)

(B mg/L)

B i A LU ET 3 R

SHIEE EH S—2-3 (=)
TH23E2A30 TIRIRIEE A X
HREH L < 0.001 0.01
T BRI i Junkay gRAN Vel
ol < 0.005 0.01
Nfio 8 L < 0.01 0.05
it < 0.005 0.01
2 KR < 0.0005 0.0005
RUBIEEDZ=ZL BREEINT BRHINGNIE
ooOQirzy < 0.002 0.02
12->o/O0xT4ay < 0.0004 0.004
Rty < 0.001 0.01
L < 0.002 0.01
ENE 0.09 0.8
F5% < 002 1
1,2->400TFL Y < 0.004 0.04

KEEDRBEEEFNZV=H




NIUEE FR2IFEKEE=FIVIHER(ESR)
(B {31 :mg/L)

mBAfmmHAILETHA (BE)
SHIAE ERS—2-3 + R X
ERR23ESH9H | ER24E2E218 | ot 7
AR L < 0.001 < 0.001 0.01
TV BRHEINT BmHEINT BRHEINGWNIE
o] < 0.005 < 0.005 0.01
AN ik du N < 0.01 < 0.01 0.05
e < 0.005 < 0.005 0.01
2IKER < 0.0005 < 0.0005 0.0005
RUEIEEDz =)L BmHsnd BmHInY BRHEINGWNIE
sHOQALY < 0.002 < 0.002 0.02
1,2-CHO0ITAY < 0.0004 < 0.0004 0.004
RoEy < 0.001 < 0.001 0.01
L < 0.002 < 0.002 0.01
Ao%E 0.14 0.15 0.8
INYES < 0.02 < 0.02 1
12->HnAaTFLy < 0.004 < 0.004 0.04

KEE DIRFEEFENG O



NUEE TR4FEKEE=SIVITHRER(EER)

(B I :mg/L)

mEmHRNLETR | B R ARLET A (B=)
SHTIER JEE S—2—3 JEE S—2—-3 :I:EI;%%%E’EX
ER24%8H23H ER25%2H148 :
HREH L <0.0003 < 0.0003 0.01
TV BRHEINng BmRHEINng BRHINGNIE
ol <0.005 < 0.005 0.01
AN ik au N <0.01 < 0.01 0.05
it <0.005 < 0.005 0.01
2 KER <0.0005 < 0.0005 0.0005
RUBIEEDZZL BRHEEINT BHINT BRHINGNIE
sHOQirzy <0.002 < 0.002 0.02
1.2-o0aIAYy <0.0004 < 0.0004 0.004
% D <0.001 < 0.001 0.01
L <0.002 < 0.002 0.01
ENE 0.13 0.1 0.8
N <0.05 < 0.05 1
12->H/anTFLY <0.004 < 0.004 0.04

KEEDRBEEEFNZV=H




NLEE TR25FEKEE=SIVIHRE(EER)

(B I :mg/L)

mEmHRNLETR | B R ARLET A (B=)
SIFIER JEE S—2—3 JEE S—2—-3 :I:EI;%%%E’EX
ER25%8H20H ER2652H208 :
HREH L <0.0003 <0.0003 0.01
TV BRHEINng BmHEINnd BRHINGNIE
ol <0.005 <0.005 0.01
AN ik au N <0.01 <0.01 0.05
it <0.005 <0.005 0.01
2 KER <0.0005 <0.0005 0.0005
RUBIEEDZZL BRHEEINT BHINT BRHINGNIE
sHOQirzy <0.002 <0.002 0.02
1.2-o0aIAYy <0.0004 <0.0004 0.004
% D <0.001 <0.001 0.01
L <0.002 <0.002 0.01
SoF% 0.10 <0.08 0.8
N <0.05 <0.05 1
12->H/anTFLY <0.004 <0.004 0.04

KEEDRBEEEFNZV=H




NUEE TR26FEKEE=SIVIHRER(EER)

(B I :mg/L)

mEmHRNLETR | B R ARLET A (B=)
SHTIER JEE S—2—3 JEE S—2—-3 :I:EI;%%%E’EX
ER265E8H19H ER2742H5H :
HREH L <0.0003 <0.0003 0.01
TV BRHEINng BmHEINnd BRHINGNIE
ol <0.005 <0.005 0.01
AN ik au N <0.01 <0.01 0.05
it <0.005 <0.005 0.01
2 KER <0.0005 <0.0005 0.0005
RUBIEEDZZL BRHEEINT BHINT BRHINGNIE
sHOQirzy <0.002 <0.002 0.02
1.2-o0aIAYy <0.0004 <0.0004 0.004
% D <0.001 <0.001 0.01
L <0.002 <0.002 0.01
SoF% 0.08 <0.08 0.8
N <0.05 <0.05 1
12->H/anTFLY <0.004 <0.004 0.04

KEEDRBEEEFNZV=H




NILUEE TR7TEEKEE=2IVTHRRIEER)

(B{L:mg/L)

BmALLETHA

BmALLETH#A

SHTIEHE JEE S—2—3 EZ S—2—3 (2%5%): _
FER278E58 228 ERK2748H8108 TREREE X
ARED L <0.0003 <0.0003 0.01
TV BmHENng BmHEInY BRHESINGZNIE
o) <0.005 <0.005 0.01
VAN il u N <0.02 <0.02 0.05
fitx <0.005 <0.005 0.01
2KER <0.0005 <0.0005 0.0005
RUEIEEZZ=Z )L BN BRI BRHESINAZNIE
oHOOiRy <0.002 <0.002 0.02
12->HOonxTAay <0.0004 <0.0004 0.004
oty <0.001 <0.001 0.01
LY <0.002 <0.002 0.01
S0o% <0.08 0.10 0.8
IRPE S <0.05 <0.05 1
12->HO0aITFLy <0.004 <0.004 0.04
XKEBDRIEEEENZVOD
(BAL:mg/L)
N mMAHmHmAWET#A | MEHRHRNLETHA (BE)
AHTIEE JEH S—2—3 EH S—2—3 R X
ER27TE10H9H ER275E10H26H
SoF 0.13 <0.08 0.8
INPE <0.05 <0.05 1

KEEDRFELEZNGV=H
(8.9 . BEXEHIZFHMADM T K (b-5) [CENT, BIRED S2F., [FIRMEHEIN-CEMNDS,
EZEICDOWTLREIER IZOWTEMBRIEZE X, )

(BA{iL:mg/L)

MEmHmRAILETHA | METHHmANLET#RA | ™MBHhmALET#A (B=)
AHTIEE EH S—2—3 EH S—2—3 EH S—2—3 R L
ERk27%11 A138 k27411 300 Epk2sFE2H12H R '
HARIH L <0.0003 - <0.0003 0.01
Ty BRESNY - RSNy BRESINGWNE
£ <0.005 - <0.005 0.01
AN iA= PN <0.02 - <0.02 0.05
fit= <0.005 - <0.005 0.01
£KER <0.0005 - <0.0005 0.0005
RUEIEE D=L mREInY - mEEng BRESINGWNTE
sHoOoOiay <0.002 - <0.002 0.02
1,2->/00IT3y <0.0004 - <0.0004 0.004
WA, <0.001 - <0.001 0.01
LY <0.002 - <0.002 0.01
AoE 0.13 0.08 0.26 0.8
IRE S <0.05 <0.05 0.09 1
12->HOAITFLY <0.004 - <0.004 0.04

KEZEDREELEZNG O




NILEE THR28FEKEE=LFIIHER(EER)

(B I :mg/L)

B AL’

B AL’

BRI’

BN’

SHIER EH® S—2—3 EH S—2—3 EH S—2—3 EH S—2—3 :l:i*fgf*i)ﬁx
Tri28E586H T R2848A5H TRpk284%11 848 TRE2942A10H RS )
AREH L <0.0003 <0.0003 <0.0003 <0.0003 0.01
T Bmishd BmHEng mHEng BmEEng BRHEINEWNIE
£ <0.005 <0.005 <0.005 <0.005 0.01
7o 0L <0.02 <0.02 <0.02 <0.02 0.05
i <0.005 <0.005 <0.005 <0.005 0.01
2 KiR <0.0005 <0.0005 <0.0005 <0.0005 0.0005
RUEIEED =)L BRHESNT BRHEISNT mHEng BmHESNnd BRHEINEWNIE
THOoOray <0.002 <0.002 <0.002 <0.002 0.02
1,2->y0QI4ay <0.0004 <0.0004 <0.0004 <0.0004 0.004
V2 D <0.001 <0.001 <0.001 <0.001 0.01
+LY <0.002 <0.002 <0.002 <0.002 0.01
Aok <0.08 <0.08 0.08 <0.08 0.8
INE <0.05 <0.05 <0.05 <0.05 1
1,2->40aTFLy <0.004 <0.004 <0.004 <0.004 0.04

KEEDREEEZFNLN =D




NILEE THR29FEKEE=FIITHER(EER)

(B I :mg/L)

B AL’

B AL’

BRI’

BN’

SFIEE EH S—2-3 E% S—2—3 E% S—2—3 E& S—2—3 :I:i*fﬁ%)ﬁx
TER20&5H198 TRK29ESH4E | EH29E118248 | F30&2898 TR :
AREH L <0.0003 <0.0003 <0.0003 <0.0003 0.01
Ty Bmishd BmHEng mHEng BmEEng BRHEINEWNIE
£ <0.005 <0.005 <0.005 <0.005 0.01
7o 0L <0.02 <0.02 <0.02 <0.02 0.05
i <0.005 <0.005 <0.005 <0.005 0.01
2 KiR <0.0005 <0.0005 <0.0005 <0.0005 0.0005
RUEIEED =)L BRHESNT BRHEISNT mHEng BmHESNnd BRHEINEWNIE
THOoOray <0.002 <0.002 <0.002 <0.002 0.02
1,2->y0QI4ay <0.0004 <0.0004 <0.0004 <0.0004 0.004
V2 D <0.001 <0.001 <0.001 <0.001 0.01
+LY <0.002 <0.002 <0.002 <0.002 0.01
Aok <0.08 <0.08 <0.08 <0.08 0.8
INE <0.05 <0.05 <0.05 <0.05 1
1,2->40aTFLy <0.004 <0.004 <0.004 <0.004 0.04

KEEDREEEZFNLN =D




NILEE THIOFEKEE=FIIHER(EER)

(B I :mg/L)

B AL’

B AL’

BRI’

BN’

SFIEE EH S—2-3 E% S—2—3 E% S—2—3 E& S—2—3 :I:i*fﬁ%)ﬁx
TER30&E5H 158 T 3048 A3H 30411 A28 TER31E2A1H TR :
AREH L <0.0003 <0.0003 <0.0003 <0.0003 0.01
Ty Bmishd BmHEng mHEng BmEEng BRHEINEWNIE
£ <0.005 <0.005 <0.005 <0.005 0.01
7o 0L <0.02 <0.02 <0.02 <0.02 0.05
i <0.005 <0.005 <0.005 <0.005 0.01
2 KiR <0.0005 <0.0005 <0.0005 <0.0005 0.0005
RUEIEED =)L BRHESNT BRHEISNT mHEng BmHESNnd BRHEINEWNIE
THOoOray <0.002 <0.002 <0.002 <0.002 0.02
1,2->y0QI4ay <0.0004 <0.0004 <0.0004 <0.0004 0.004
V2 D <0.001 <0.001 <0.001 <0.001 0.01
+LY <0.002 <0.002 <0.002 <0.002 0.01
Aok <0.08 <0.08 <0.08 <0.08 0.8
INE <0.05 <0.05 <0.05 <0.05 1
1,2->40aTFLy <0.004 <0.004 <0.004 <0.004 0.04

KEEDREEEZFNLN =D




NILEE TEBIFEEKEE=4I7HRR(EE)

(B I :mg/L)

B AL’

B AL’

BRI’

BN’

SFIEE EH S—2-3 E% S—2—3 E% S—2—3 E& S—2—3 :I:i*fﬁ%)ﬁx
SHIE5A108 SH1E7A5H SH1F9A6H SHE128138 TR
AREH L <0.0003 <0.0003 <0.0003 <0.0003 0.01
Ty Bmishd BmHEng mHEng BmEEng BRHEINEWNIE
£ <0.005 <0.005 0.007 0.007 0.01
7o 0L <0.02 <0.02 <0.02 <0.02 0.05
i <0.005 <0.005 <0.005 <0.005 0.01
2 KiR <0.0005 <0.0005 <0.0005 <0.0005 0.0005
RUEIEED =)L BRHESNT BRHEISNT mHEng BmHESNnd BRHEINEWNIE
THOoOray <0.002 <0.002 <0.002 <0.002 0.02
1,2->y0QI4ay <0.0004 <0.0004 <0.0004 <0.0004 0.004
V2 D <0.001 <0.001 <0.001 <0.001 0.01
+LY <0.002 <0.002 <0.002 <0.002 0.01
Aok <0.08 <0.08 <0.08 <0.08 0.8
INE <0.05 <0.05 <0.05 <0.05 1
1,2->40aTFLy <0.004 <0.004 <0.004 <0.004 0.04

KEEDREEEZFNLN =D




